bookboon.com

Download free books at

bookbooncom




Leif Mejlbro

Complex Functions Examples c-7

Applications of the Calculus of Residues

Download free eBooks at bookboon.com



Complex Functions Examples c-7 — Applications of the Calculus of Residues
© 2008 Leif Mejlbro & Ventus Publishing ApS
ISBN 978-87-7681-390-1

Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Contents

Contents

Introduction 6
1. Some practical formulz in the applications of the calculation of residues 7
1.1 Trigonometric integrals 7
1.2 Improper integrals in general 8
1.3 Improper integrals, where the integrand is a rational function 8
1.4  Improper integrals, where the integrand is a rational function time a 8

trigonometric function

1.5 Cauchy’s principal value 10
1.6 Sum of some series 12
2. Trigonometric integrals 13
3. Improper integrals in general 25
4. Improper integral, where the integrand is a rational function 44
5. Improper integrals, where the integrand is a rational function times a 72

trigonometric function

www.sylvania.com

We do not reinvent
the wheel we reinvent
light.

Fascinating lighting offers an infinite spectrum of
possibilities: Innovative technologies and new
markets provide both opportunities and challenges.
An environment in which your expertise is in high
demand. Enjoy the supportive working atmosphere
within our global group and benefit from international
career paths. Implement sustainable ideas in close
cooperation with other specialists and contribute to
influencing our future. Come and join us in reinventing
light every day.

OSRAM
Light is OSRAM SYLVANIA

vy
)

4
Download free eBooks at bookboon.com


http://s.bookboon.com/osram

Complex Funktions Examples c-7 Kapiteloverskrift NL

6. Improper integrals, where the integrand is a rational 98
function times an exponential function

7. Cauchy’s principal value 114

8. Sum of special types of series 130

360°
thinking.

Deloitte.

Discover the truth at www.deloitte.ca/careers © Deloitte & Touche LLP and affliated entities.

5
Download free eBooks at bookboon.com

Click on the ad to read more


http://www.deloitte.ca/careers

Complex Funktions Examples c-7 Introduction

Introduction

This is the seventh book containing examples from the Theory of Complex Functions. In this volume
we shall apply the calculations or residues in computing special types of trigonometric integrals, some
types of improper integrals, including the computation of Cauchy’s principal value of an integral, and
the sum of some types of series. We shall of course assume some knowledge of the previous books and
the corresponding theory.

Even if I have tried to be careful about this text, it is impossible to avoid errors, in particular in the
first edition. It is my hope that the reader will show some understanding of my situation.

Leif Mejlbro
19th June 2008
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1 Some practical formula in the applications of the calcula-
tion of residues

1.1 Trigonometric integrals
We have the following theorem:

Theorem 1.1 Given a function R(x,y) in two real variables in a domain of R%. If the formal
extension, given by

21 2241
R(Z2 220,
21z 2z

is an analytic function in a domain Q C C, which contains the unit circle |z| = 1, then

27 1 2
/ R(sinﬁ,cos@)dﬂz]{ R(Z - 1, : +1> %
0 |2|=1 2iz 2z 1z

In most applications, R(sin , cos ) is typically given as a “trigonometric rational function”, on which
the theorem can be applied, unless the denominator of the integrand is zero somewhere in the interval
[0, 27].
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1.2 Improper integrals in general

We shall now turn to the improper integrals over the real axis. The general result is the following
extension of Cauchy’s residue theorem:

Theorem 1.2 Given an analytic function f : Q0 — C on an open domain Q0 which, apart from a finite
number of points z1, ..., zn, all satisfying Im z; > 0, j =1, ..., n, conlains the closed upper half
plane, i.e.

QU {z,....2n} D{z€C|Im z > 0}.

If there exist constants R > 0, ¢ > 0 and a > 1, such that we have the estimate,

C

Ll

If(2)] <

when both |z| > R and Im z > 0,

then the improper integral of f(x) along the X -axis is convergent, and the value is given by the following
residuum formula,

/+Oof(x)dm:27ri Z res(f;zﬂz%riires(f;zj).

- Im z;>0 Jj=1

1.3 Improper integrals, where the integrand is a rational function

We have the following important special case, where f(z) is a rational function with no poles on the
real axis. When this is the case, the theorem above is reduced to the following:

P(z

Theorem 1.3 Given a rational function f(z) = Q—) without poles on the real axis. If the degree of
z

the denominator polynomial is at least 2 bigger than the degree of the numerator polynomial, then the
improper integral of f(x) along the real axis exists, and its value is given by a residuum formula,

+o00o
/ f(x)de = 2mi Z res (f;z;).

- Im z; >0

1.4 Improper integrals, where the integrand is a rational function time a
trigonometric function

If the integrand is a rational function time a trigonometric function, we even obtain a better result,
because the exponent of the denominator in the estimate can be chosen smaller:

Theorem 1.4 Assume that f : Q — C is an analytic function on an open domain ), which, apart
from a finite number of points z1, ..., zn, where all Im z; > 0, j =1, ..., n, contains all of the
closed upper half plane, i.e.

QU {z,....2n} D{z€C|Im z > 0}.

If there exist constants R >0, ¢ > 0 and a > 0, such that we have the estimate

C

[f(2)] < , if both |z| > R and Im z > 0,

2]
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Complex Funktions Examples c-7 Some practical formulzae in the applications of the calculation of residues

then the improper integral of f(x)e™™* along the X -axis exists for every m > 0, and its value is given
by the following residuum formula,

/+<>0 f(z)e™® dx = 2mi Z res (f(z) eimz;zj) = QWines (feimz;zj) .
j=1

—0o0
Im z;>0

In the special case, where f(z) is a rational function, we of course get a simpler result:

Theorem 1.5 Given f(z) = -e'™* where P(z) and Q(z) are polynomials. Assume that

1) the denominator Q(z) does not have zeros on the real axis,
2) the degree of the denominator is at least 1 bigger than the degree of the numerator,
3) the constant m is a real positive number.

Then the corresponding improper integral along the real azis is convergent and its value is given by a
residuum formula,

PO e Y (D ).

Im z;>0

The ungraceful assumption m > 0 above can be repared by the following:

Theorem 1.6 Assume that f(z) is analytic in C\{z1, ..., z,}, where none of the isolated singularities
zj lies on the real awis.

If there exist positive constants R, a, ¢ > 0, such that

|f(2)] < PG for [z| = R,
then
oo 270 ) Im 2,50 T6s (f(z) ey, zj) fory >0,
/ f(z)e™ dx = _
- =270 ) I 2 <0 Tes (f(z)€e=v;2;) fory <O0.

In the final theorem of this section we give some formulee for improper integrals, containing either
cosmx or sinmx as a factor of the integrand. We may of course derive them from the theorem above,
but it would be more helpful, if they are stated separately:
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Theorem 1.7 Given a function f(z) which is analytic in an open domain Q0 which — apart from a
finite number of points z1,. .., z,, where Im z; > 0 — contains the closed upper half plane Im z; > 0.
Assume that f(x) € R is real, if x € R is real, and that there exist positive constants R, a, ¢ > 0, such
that we have the estimate,

lf(2)] < ‘C|a, for ITm z >0 and |z| > R.
z
Then the improper integrals fj;: f(z) Z?Ségi)) dz are convergent for every m > 0 with the values

given by

+oo
/ f(z) cos(mz) dx = Re | 2mi Z res (f(2) "% z5) ¢,

—0o0
Im z;>0

and

+o0o
/ f(x) sin(mz) de = Im < 27i Z res (f(z) e z) ¢,

- Im z; >0

respectively.

1.5 Cauchy’s principal value

If the integrand has a real singularity zy € R, it is still possible in some cases with the right interpre-
tation of the integral as a principal value, i.e.

o [ srtem g {7 [ s

to find the value of this integral by some residuum formula.

Here v.p. (= “valeur principal”) indicates that the integral is defined in the sense given above where
one removes a symmetric interval around the singular point, and then go to the limit.

Using the definition above of the principal value of the integral we get
Theorem 1.8 Let f: Q) — C be an analytic function on an open domain §, where
Q2{zeClImz>0}\{z1,...,2,}.

Assume that the singularities z;, which also lie on the real azis, all are simple poles.
If there exist constants R >0, ¢ > 0 and a > 1, such that we have the estimate

[F(2)] <

C

2 for Im z >0 and |z| > R,
ZG/

then Cauchy’s principal value v.p. fj—fj f(z) dx exists, and its value is given by the following residuum
formula,

+o0o
v.p./ f(z)dx = 2mi Z res (f;zj) + mi Z res (f;z;).

e Im z; >0 Im z;=0
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This formula is easily remembered if one think of the real path of integration as “splitting” the
residuum into two equal halves, of which one half is attached to the upper half plane, and the other
half is attached to the lower half plane.

It is easy to extend the residuum formula for Cauchy’s principal value to the previous cases, in which
we also include a trigonometric factor in the integrand.
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1.6 Sum of some series

Finally, we mention a theorem with some residuum formulae, which can be used to determine the sum
of special types of series,

Theorem 1.9 Let f : Q — C be an analytic function in a domain of the type @ = C\ {z1,...,2n},
where every z; ¢ 7.

If there exist constants R, ¢ > 0 and a > 1, such that

for |z| > R,

—+o0

then the series ) "~

f(n) is convergent with the sum

n

+oo
Z f(n) = —FZ res (cot(mz) - f(2);25) .

n=—oo

+oo

Furthermore, the alternating series Y~ (—=1)" f(n) is also convergent. Its sum is given by

ni(—mﬂn) - —r Y ().
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2 Trigonometric integrals

Example 2.1 Compute fo% e? o050 4.

Here, the auxiliary function is given R(£,7) = e2”, in which ¢ does not enter. The function

22—-1 2241 22 4+1
R —, = exp
21z 2z z

is analytic in C\ {0}, so

27 )

| 1\ dz 2 1 1

/ chostGZ% exp (Z+—> i:ﬂres (— exp (Z+_> ;0)'
0 ol=1 O ’

We note that both z = 0 and z = oo are essential singularities, so we are forced to determine the
Laurent series of the integrand in 0 < |z|. However, there is a shortcut here, because we shall only be
interested in the coefficient a_;. We see from

+o0 00
1 1 1 1 1 1 11
- - P . - _ m . 0
. exp <z+ z) =2 exp z expz = ngzo o z nE:O o1 o z #0,

that a_; is obtained by a Cauchy multiplication as the coefficient, which corresponds to m = n, thus

2m +oo 1
2cos0
e df =27 —,
J 2 P

which can be shown to be equal to Jy(2¢), where Jy(z) is the zeroth Bessel function.

df
2+ cosf’

Example 2.2 Compute fo%
o : . 0
This integral can of course be computed in the traditional real way (change to tan 2 where one of

course must be careful with the singularity at § = 7). We have in fact,

™

/2” 50 _/27r do _22/5 dt _g/ﬂo du 437 21
o 2+cost o 3coszg+sin2€ o Beos?t+sin’t 3 1+%u2 3.2 V3

2

If we instead apply the Complex Function Theory, then we have the following computation

/2” do ]{ 1 dz jg -2
_— = _—— —_— = _— z
2 + cosf _ 2241 iz 122 +4z+1
0 |z 12+— |z|=1
2z
1 1 2
= (=2i7) 2mwires 7;—2—1—@):477 lim @ —mmm— = —,
(=20) <22+4z+1 24 V32 +24+V3 V3

where we have applied that 22 4+ 4z + 1 has the roots —2 £ v/3, of which only —2 + /3 lies inside
|z| = 1.
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Trigonometric integrals

Example 2.3 Prove that
(@) /27T cos 20 o= 0 /2” cos 36 o=
o H—3cosf 18’ o Hb—3cos 54

a) We shall use the substitution z = e, where in particular
s p ,

1 . ) 1 1
cos 20 = 5 {6219 —|—e_210} =3 {Z2 + ;} )

Then
27
/ _c0s20 4y _ 2l ) dz 1
o H—3cosh . 3{ 1} iz i
S—zq9z+ -
2 z
1 241 1

= dz:

1
24 -
z—|—22

Lo, 1
]{ 2 N 22 dz_l%
[z|=

e
1 3224 102-3""

30 e
lz2=1 2 ) 2

—Oz+1} 32’%4:122(2__

- res A1 ;0] +res 21 -
=3 22(22-Rz241)’ 2(z2=4)(2=3)"3) |

We obtain by RULE I,

res 1 L) 34+1 __8 _ 4
22(z—1)(2-3)7 3 11 - 3-(-8) 12’
32\3
and
res At ;0 S limd{ i }
22(22-Rz241)7 o Me—o0dz |22 -2z 41
lim 42° (z*+1) (22— 1) 10
= 1 — = —
=0 |22 - Pt (22—1—5)24—1)2

Finally, by insertion,
/2“ cos20 . 2mi [ 41 10] 27 [—414+40] 7
o H5—3cosf ~ -=3i| 12 3f 3 12 o187

(b) For the substitution z = €%, where we see that in particular,

1 ) ) 1 1
cos 30 = 3 {3 + 7310} = 3 {z3 + ;} ,

3
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we get

Here,
. 1 1
3
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and
1 1
23+; 23
es ;0| =res ;0
g 2-0z41 : 22—z 41
L& 1 L. d 2: -8
= —lim-—{——-—"——pr==lm—¢——-——3
20:20d2 |2 —War 1) 2:00de | (22— L0, 41)
1 2 2 (22 — 10)? 100 91
= =~ lim< — (22~ 5) 7 (= 1+ ~ 9
2 z—0 (Z2 %z—&—l) (22 1OZ+1) 9 9

hence by insertion,

2T cos 30 2m 365 91 2r 364 — 364 m ™
do + =__. — _
0

36 9 3 36 3-18 54

5-3cosf 3

Example 2.4 Prove that

27
do 2m
= , 0<a<l.
/0 1+a?—2acosf 1—a? Jor “

Find also the value, when a > 1.

We get by the substitution z = e* that

d@z% and cos@zl{z—kl},
1z 2 z
thus
/2” df N f 1 d_z__l]{ dz
o 1+a%—2acosf |Z|=11—|—a2—(z—|—l)aiz i Jis=1 022 — (1+a?)z+a
z

i

dz

= \%7 1 .
“ |Z|_122—<a+—)z+1
a

1
The integrand has the poles z = a and z = —. Of these, only z = a lies inside the circle |z| = 1, hence
a
/2“ do iy 1
= —.2mi-res pa
1+a?-2 0 1 '
o l+a a cos a 22—<a+—>z+1
a
2 I 1 27 1 27 27
= — lim —— =—— = = .
a =—1_ 1 a a?—1 1-—a?
a a

16
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1
If @ > 1, then 0 < — < 1, and it follows from the above that
a

/2” do 1 /2” do 1 2r 2r
1+a2—2acosf a2 1) 2 1 a2 I a2-1
0 0 1—1—(—) —2-— cosf 1*9

a a

Remark 2.1 We note that the case a < 0 gives the same values, only dependent on if |a] < 1 or
la| > 1. Finally, the case a = 0 is trivial. ¢

Summing up,

2
do 2m
= fi R\ {—-1,1}.
/0 1+4+a?—2acost |1—a?|’ ora€R\{=11}

The integral is divergent, if a = +1.
Example 2.5 Prove that if a > 1, then

/2<m dt 2w
0 a+sint Va2 —1

It follows from

27 2 2
-1 1\ d
R(sin@,cos@)d@z% R(Z —, 7 ) iy
0 l2|=1 2iz 2z 12
that
27
dt 1 d 1
[t kg1,
o a-+sint |2|=1 z—1 iz |2|=1 2° +2iaz — 1
a+ —F
2iz
. 1 .
The function ——————— has the two simple poles
22 +2iaz—1

z=—ta+\/—a? - 1.

Of these only z =1 {\/ a?—-1- 1} lies inside the unit circle. Hence

/:ﬂi - 2-2m’-res<; '{M—l})

a+sint 22+2iaz—1;2
1 1 2T
= 2-2m lim =2-2m - = .
ci{VaToa) 2 +ivVaE —1+ia 2iva—1 Va2—1
17
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Example 2.6 Compute

27
/ cos(2cos ) db,
0
expressed as a sum 320 ap.
i0

Applying the substitution z = €'’ we get

2 .
1\ d 2 1 1
/ cos(2cosf)df = 7{ cos (z + —) —Z = ﬂ res <_ cos (Z + _) : 0)
0 |z|=1 z) iz i z z

1 1
= 27 -res (— cos (z—l——) ;O).
z z
It follows from

Lan(er2) -2 bfen(ofer ) rem ()

= 22 Jexpiz)-exp (L) +exp(-i2) :
= '3 exp(? z) - exp 2 exp(—1?z) - exp 2
+o0 +o0 . +oo +oo
11 1, 1in o 1, 1
= ?5{,;0W : 'n:ﬂz_”mzzﬁ(_” : 'nzzﬂ(_” —}

that the coefficient a_1 in the Laurent series expansion for

—cos|z+ —
z z

is determined by m = n, i.e.

1&XRin in 1 X (=i (—r =X (e
(AP i R D D b S Dl X

n=0 n=0 ’ n=0

which can be shown to be equal to Jo(2), where Jy(z) is the zeroth Bessel function. Hence we conclude
that at

/Qﬂ (2cos0) df = 2 res [ +3) 0 0) = 2may =2 fﬂ—g To(2)
cos(2 cos =2mres | —cos{z+ ) ;0] =2ma_ =27 =21 Jo(2).

0 ot (nl)?
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Example 2.7 (a) Determine the Taylor series from z =0 of
1
1 )
22 —la+—-)z+1
a

in the form Z;:B apzP.
Find the radius of convergence r of the series.

where 0 < a < 1,

(b) Find the Laurent series of
A A

1) = —
2" — (a—i——)z—l—l
a

in the domain given by 0 < |z| < r, by using the result of (a), and then find the residuum of f at
the point z = 0.

nelN, 0<a<l,

(c) Compute

27
/ cosv) 4 peN, O<a<l,
0

1+ a2 —2a cosv

by transforming the integral into a line integral in the complex plane.

(a) First note that we have the factor expansion

22—(a+%)z+1:(z—a) <z—é)

1
If 2| < a << —), it follows by a decomposition and an application of the geometric series,
a

1 B 1 1 L, 1
1 N 1\ 1 z2—-a 1 1
22—la+-)z+1 (z—a)|z—— a— — -——a z—-—
a a a a a
1 -1 1 1 1 1
= +

1 =X 2 1 1
I ad _ PP _ =P _ p+2_p
p= p= p=

I 122
— 2P,

a?  1—a?
p=0

The radius of convergence is of course r = a, which e.g. follows from the fact that z = a is the
pole, which is closest to 0. We may also easily obtain this result by the criterion of roots.

19
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Trigonometric integrals

(b) If 0 < |z] < @ and n € N, then it follows from (a) that

—+oo

PSS B 1 1—a?t?
22— la +o)z +1 p=0
too 2p+2
_ 11-@ p+n+z -1—(Lp Zp_"
a?  1-—a? 1—a? ’
p=0
which we may reduce to the Laurent series
n+1 2p+242n +oo 2n _ 2p+2
1 1-—a% 1 (a®+1) (1 —a?"?)
= . p . p
f(z)_zap+n 1 — a2 Z+Zap+n 1— a2 Z5
p=—n p=n

although this result is not much nicer.

We know that the residuum is given by p = —1, so

1 1— a2
ar—1l 1—¢qa2°

res(f;0) =a_1 =

STUDY AT A TOP RANKED
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(c) If we put z = €', then
_ &

1 inuv —inv
cosnv = — {e e and dv .
2 { * } 12

Then we get by insertion, reduction and an application of the residuum theorem (with the two
poles z = 0 and z = a inside the unit circle |z| = 1),

/27r cos(nv) p 1 % 22 dz
v — = iaied
o 14+ a?—2a cosv 2 Jizj=1 1+a?—-a(z+271) iz

n —1 1
1 1 2tz dz = ——— - 2mi {res(f;0) + res(f; a)}

B ??{_ —a 1 T2
b lEl=1 T z2—(a+—>z+1 “
a

T 1 1— a2 gt A A 1 1—a? 1 a"+a™™
= — . 1m = —T — . — .
a a1l 1—a?2 z-a 1 a® 1 —a? a
z— — a— —
a a

1 1—a®> 1 a®+1 T 1—a?"—a? -1 a™
— —Tr —_ e —_ . :27'['.—
a® 1—a? a® 1—a? an 1—a? 1—a?
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Example 2.8 Given the function

1— 6i2z
—Q

f(2)

z
(1) Prove that f has a simple pole at z =0, so we have for z # 0,

f2) ="+ o),

where g is an entire function, i.e. analytic in C.
Find the residuum by.

Consider for r > 0 the half circle v,, given by the parametric description
'yr(t):reit, 0<t<m.

(2) Prove that

(2)dz — bymi forr — 0.
Tr
(3) Prove that
/ f(z)dz—0 forr — +oo.

"

Figure 1: The curve I'; g.

Let ' p = I + 11+ 111 + IV denote the simple, closed curve on the figure, where II = g and

IV = —~..
(4) Compute

]{ RELE

and prove the formula

400 . 2
/ {smx} de= T
0 T 2

22
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1)

It follows from the Laurent series expansion

1 2z 1 +°Oin n ,n
flz) = 2—2{1—6 }:Z—2 1—25-22’

n=0
1 ™= n
= —{1-1-9; Cgn+2 n+2
22{ “‘*Zz)(nw)! :
245 a0
— _— - . -z, z ,
z — (n+2)!

that f has a simple pole at 0 and that

“+oo .n

v n_n
n=0

is an entire function, and that
res(f;0) = —2i = by.

When we use the parametric description of the half circle, we get

f(z)dz

o /‘{_%”(z)} dz:/oﬂ{—%%re“}dt—i-fwg(z)dz

. 2
2/ dt+/ g(z)dz:27r+/ 9(z) dz,
0 .

T

where 2w = —2¢ - im = by - im.

In particular, g(z) is continuous, so |g(z)| < ¢ for |z| < 1. Therefore, if 0 < r < 1, then we get the

estimate

/g(z)dz <c-mr—20 for r — 0 +.
It follows that

lim (2)dz = bymwi = 2.

r—0+ o

Assume that r > 0 is large. It follows from

e'?* = exp(2ir - (cost + i sint)) = exp(—2r sint) exp(2ir cost),
and r > 0 and 0 < t < 7 that —2r sint < 0, hence

|ei22’ < for z €T,.

This implies the estimate

T1+1 2
/f(z)dz’ﬁ‘/ %-rdtlz—ﬂ-ao for r — +o00.
Y 0 T T
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4) Now, f(z) is analytic everywhere inside I'; g, so it follows from Cauchy’s integral theorem that

2ix

Rq_
OZ/FE,Rf(Z)dZ:_ %f(z)dz—l—/s mg dx + . (z)dz+/

~R 1’2

i - eZzz

dx.

Since cosine is an even function and sine is an odd function, it follows by the symmetry that

R 2ix —& 2z
1-— 1-—
/ — +/ —
5 T —R T
B 1~ cos2z R gin 2z ¢ 1—cos2z ¢ sin 22
[ T R
e X e X _R X _R X
2/R 1 —cngw dp = 2/R{sinx}2dx.
R T R T
Then by insertion and taking the limits ¢ — 0+ and R — +o0,

R . 2
0 = — | flz)dz+ (z)dz—|—2/ {smx} dx
Ye TR € xr

oo (ging)?
— —n14+0+2 dx.
0 X

This limit is of course also equal to 0, so by a rearrangement,

400 . 2
/ {smx} dr— T
0 T 2
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Complex Funktions Examples c-7 Improper integrals in general

3 Improper integrals in general

Example 3.1 Compute the improper integrals

e x 1 e x , 1
. 22 1 exp 1.2—_*_1 COS 1‘2—H dac, and . 22 1 exp 22 1 sin 1‘2—4—1 dx.

When we split into the real and the imaginary part, we get

1 x 1

;= +1
r—1 241 2 +1’

so it is quite natural to consider the analytic function

fz) = -2 eXp( 1‘), for z € C\ {—i,i}.

T 2241

Since - — 0 for z — oo, there clearly exists an R > 1, such that we have the estimate
z—1i
Q)< oy forld >R
z — or |z .
= zf? -

Then the assumptions of an application of the residuum formula are satisfies, so we conclude by the
linear transform w = z — i that

/+°° 1 x4 J o 1 1 ,
—— €X X = T - Ires ex 5
e X241 Plaz 211 P\ )0
1 1
= 2mi- _ —1:;0]).
T - Tes <w2 o exp (w) ; )

Now, wg = 0 is an essential singularity of the function

1 1
w? + 2w Py )

so in order to find the residuum we shall expand into a Laurent series from wy = 0, then perform

a Cauchy multiplication and finally determine a_; by collecting all the coefficients of —. When
w

0 < |w| <2, we get

+oo m +oo
1 1 1 1 1 1 1 1 1 —w 1 1
E'2i+w'eXpE_Z'E'1+E'eXpE27"@2_:0{—2@'} Z%m—wn-
24 m= "=

1
Since we have separated the factor —, it follows that a_ is equal to the constant term in the product
w

of the two series, i.e. m = n. Thus

1*2’51 "1 i 1 L in
a_1 = — — — = — € — = — COS — 7 SIn —
"2 Ll 2 2 TP\ ) T 9 D 92 ("
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and we conclude that

oo x 1 - 1
[m T2 &P <—x2+1) {cos (—x2+1> + ¢ sin (—x2+1)}dx
M| T+ : I |
:/_oo 2 exp(x2+1>da::27ma_1:ﬂ{cos§+zs1n§}.

When we separate the real and the imaginary parts, we get

LS| T 1 B 1
n J;2+16Xp 2 cos P d:r—7r-cos§7

and

T T . 1 1
n x2+1exp 1 sin O da::7T~sm§.

ALTERNATIVELY we may use that the function

(w) 1 . 1 1 . 1
= ——— X f— = ———— eXx f—
g w2+ 2w P\ w w(w + 21) P\

is analytic in C\ {0, —2i}, so if we include the residuum at oo, then the sum of the residues is zero.
Hence

e T+
/700 —x21—|— T eXp <372——'—i_—1> dx = 2mi - res(g(w) ; 0) = —2mi{res(g(w); —2i) + res(g(w); oo)}.

Here, —2i is a simple pole, so by Rule Ia,
1 1 1 i
o) =20 = = tim, o (1) = 5 o (5)

1
Furthermore, lim,,_,~ exp (—) =exp0 =1, sow =00 is a zero of order 2 of
w

(w) 1 1 <1>
gw) = — - 5; exp({— ),
w 1+_Z w

w

and it follows from Rule IV that
res(g(w); o0) = 0.

Then by insertion,

+00 . . .
1 2 1 1
/_OO poay - exp (;2—5_21) dx = 2mi - res(g(w) ; ,00) = % - exp (%) :W{COSE iy sin§},

and the results follow as above by separating the real and the imaginary parts.
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Example 3.2 Assume that x > 0. Find the limit value

A
1 1
lim — — — | dt
A—too J_4 \t+1x t—x
Here we get without using Complex Function Theory,

A A . .
1 1 t—ix—t—
im_ [ ( - >dt: T A
A—+oo J_4 A—+oo J_ 4 t“+x

t+ix t—ix

A gt t\14
= lim —Qix/ ——— % =-27 lim [|Arctan| — = —2im.
A—+oc0 _A 12 + x2 A—+o00 )] _4
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Complex Funktions Examples c-7 Improper integrals in general

Example 3.3 Let a € R be a constant. Prove that the integral

+oo s
I(a) :/ e~ (@Fia)” gy

— 00

is independent of a.

HiNT: We may assume that a € Ry. Denote by C the rectangle of the corners —b, b, b + ia and
—b +ia. Show that

% exp (—22) dz =0.
c

Then prove that

a a
/ e—(b+iy)2dy‘ < e—bQ/ oV dy.
0 0

By letting b — 400, prove that I(a) = 1(0).

Figure 2: Example of one of the curves C. Here, a =1 and b = 2.

Clearly, we may assume that a > 0, because we otherwise might consider an analogous curve in the
lower half plane.

Now exp (—z2) is analytic in C, so

j{ exp (—22) dz = 0.
c

We estimate the line integrals along the vertical lines by

/a e_(:tb""Zy)zdy’ —
0

Since

a a
/ e‘bzﬁib'”yzdy‘ <e? / eyzdy — 0 for b — +oo0.
0 0
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and since f j:oo e~ dx is an improper convergent integral, it follows by taking the limit b — 400 that
+oo s +oo 5
I(a) = / e~ @+ gy — / e ¥ dx = I1(0).
—o0 —oo

Note that we also have

Example 3.4 Compute
+oo 5
1(0) z/ e " dx.
—+o0

HINT: Use that

{1(0)}2 = /:o e dx /+: eV dy = //R e~ (1) dy.

Then use polar coordinates.

Since e~ (#*+¥%) > 0 for every (z,y) € R?, and since the function is continuous, all the transforms
below are legal, if only the improper plane integral exists. (The only thing which may go wrong is
that the value could be +00). Hence,

“+o0 “+oo
/ e da - / eV dy = // — (@ +y? )dx dy
— R2
27 +o00 “+oo
/ / " drdf = 27 - {e T] =,

~
—~
[e=)
=
o
I

Example 3.5 Integrate the function et by using Cauchy’s theorem along a triangle of corners 0, a
and a(1 + 1), where a > 0. Prove that the integral along the path from a to a(l 4 i) tends to 0 for
a — +o00, and then prove that

+oo +oo +oo 144 [T
/ e dy = / cos (12) dx + z/ sin (xQ) dr = R / e~ dz.
0 0 0 V2 Jo

The integrand is analytic, so it follows from Cauchy’s theorem that

0:/ e”2dx+/ ei(a“‘tﬁidtf/ D™ (1 4 ) at.
0 0 0
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05 v 45 15

Figure 3: The curve C' when a = 1.

We first consider
@ 2
I = / e @t gt
0
Here we get the estimate

a a _ ,—2a?
/ ei(a27t2)672ati dt‘ S / 672(115 dt = L < i
0 0

I =
12| 2a 2a

It follows immediately that
a(l+i) R
/ e dz—0 for a — +o0.
0

Then we introduce the substitution u = tv/2 into the latter integral,

I :/ e 0 (1 4 4) dt.
0

We get here
a a . av2
. 1
I3 = / 62(1+1)2t2(1 +i)dt =(1+1) / e 2 dt = \j; / e du

0 0 0

Lo [T g +

e i or a — +00.
V2 Jo

We finally conclude that the first integral I; is also convergent for a — +o00, and

+oo +o0 +oo . +00
) 1
/ e dy = / cos (%) dz + z/ sin (2%) do = e e da.
0 0 0 V2 Jo
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Remark 3.1 If we use the result of Example 3.4, it follows by the symmetry that

+oo i

; 1
/ elwzdl': +l.ﬁ7
0 vz 2

hence
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Complex Funktions Examples c-7 Improper integrals in general

Example 3.6 1) Find the domain of analyticity of the function

L
1&)= 52

Ezplain why f has a removable singularity at z = 1.
2) Let Cy r denote the simple, closed curve on the figure, where

0<r<R<+o.

08
0.6
04

T

0.2 02 04 06 08 1 12

-0.2

Compute the line integral

W ¢ RCLEE

3) Show that the improper integral

+oo 1
/ —2nx dx
0 x4 —1

is convergent, and then find its value, e.g. by letting r — 0+ and R — 400 in (1).

1) Clearly, f is defined and analytic, when
z€ C\(R- U {0,1}),
and the singularity at z = 1 is at most a simple pole,

Log z  res(f;1) R n

But since

Log z Logl

res(f(f;1) = lim Z25= = 2%,
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it follows that the Laurent series of f from z = 1 is a power series, so the singularity at z = 1 is
removable.

ALTERNATIVELY, both the numerator and the denominator are 0 for z = 1, so we get by ’'Hospital’s
rule that

lim f(z) = lim

z—1 z—1 22 —_ ]_

so the singularity is removable, and we may consider

Log =
22 1’ $€C\(R_U{O,l}),
fz) = .
57 Z:]-u

as an analytic function in C\ (R_ U {0}).

ALTERNATIVELY it follows by a series expansion of

Log z = Log(1 + (2 — 1)) for 0 <]z —1] <1,

that
Log = 1 1 X (-t 1 X (-
= = . . — 1 n_ —_ ]_ n
/) 22—-1 z+1 z—lZ n (z=1) z—l—lzn—l—l(z )
n=1 n=0
Here is continuous in all of the disc |z — 1] < 1, so we conclude again that z = 1 is a

z
removable singularity and that f can be analytically extended to z = 1 by putting

1 1 1
f“)::m{l—w”}:a

0.2 02 04 06 08 N 12 14 16

Figure 4: The path of integration C, r with the removable singularity at z = 1.
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2) Since we may consider f as an analytic function in C\ (R_ U {0}), we conclude from Cauchy’s
integral theorem that

2 ¢ RELE

x
3) When we restrict the analytic function to Ry, we get a continuous function T supplied by

n
2 —

1
the value 3 at x = 1. Since we only have Inx = 0 for x = 1, we see that x = 1 is the only possiple

. 1 .. Inz ..
zero. However, the value is here 3 > 0, so we conclude by the continuity that — 1 is positive
72 —

(and continuous) for € Ry. Then we have the splitting

T lnzx : Inz 2 Ing T lnzx
do = —d —d dx.
/0 2177 /0 x2 =1 $+/§ x2 -1 x+/2 22— 1%

The estimate

R
0 < / nml /|lnac|dx——/ (—Inz)dx
TR 1"

(1+In2)=

[SUNREN

(1+1n2) < +oo,

wl»b
l\.’)lb—\
wlm

1
[~z Inz+ 2|5, =
implies that the first integral exists.

. . Inz . ..
It was mentioned above that we could consider P as a continuous function in the closed
T

bounded interval [% , 2], from which we conclude that the second integral also is convergent.

Finally, it follows from the magnitudes of the functions, when x — 400 that there exists a constant
C > 0, such that

“+oo
0</
2

and we conclude that the last integral also is convergent.

“+oo
da:<C/ —dx—C\/_<+oo

Inx
2 —

Summing up we have proved that the improper integral f0+oo dx is convergent.

When we expand (2), then

R 6 5 6
1 Log (R Log(it) : L ,
0 = / - dm+/ Log (Re”) e) -Rie" df — / Ogl idt—/ Log (re®) et ag
T 0 0

Z‘Q -1 RQ 210 7‘26219 1
R Rlnt—|—2— z z ;
Inx 2 7 InR+10 i0 (2 Inr+10 i0
= /T ]}2 dl’-'-?,/r Wdt-f—l/o mR@ d9—|—2/0 W'TG d@,
34
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hence by a rearrangement,

R R
1 Int
/ ne dx—H'/ Bl
s, ox2—=1 , 1412

R g . = .
T dt 2 InR+ 6 . 2 Inr+ 6 .
= - Y T RePap — i — .re4o.
2/~ 1+22 '), Ree2o_—1 ¢ ’/0 1—p2e20 "€

By taking the limits » — 04 and R — 400 on each of the terms on the right hand side we get

. . x [f ot 7 [T dt T T w2
lim lim — — = — — = .=
r—0+ R—-+4oo 2 r 1 + t2 2 0 1 + t2 2 2 4

and
(% InR+if 0 IR+ 7Z
T R(lnR-i—%)
B R — 0 for R — +o0,
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.r(|lnr\+§)

1 5 — 0 for r — 0+,
—r

respectively. Hence, by summing up,

/+°° Inx dr + _/+°° Int it 72
T4 —dt = —.
o r2-—1 o 241 4

Finally, by separating the real and the imaginary parts,

+oo 2 +oo
Inx T Inx
de = — —dx = 0.
/0 2177 8 /0 2241
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Example 3.7 Given the function

eZ

&)= 1res

(1) Find all the isolated singularities of f in C.
Determine the type of each of them and their residuum.

Given for each r1 > 0 and ro > 0 the closed curve
Yri,re = Irl,rg + IITQ + IIIrl,rg + I‘/rl
(cf. the figure), which form the boundary of the domain

Ap vy ={2€C| —r1 <Re(z) <rg and 0 < Im(z) < 7}.

Figure 5: The curve 4, ,, with the direction given on I, ,, = [-r1,72] and III,, ,,.

(2) Prove that

]{ £(2)dz

71,72

V2
— M.
2

(3) Prove that the line integrals along the vertical curves I1,, and IV, tend to 0 for ro and ry tending
to +o00.

(4) Find

+oo e
oo lH4e

1) Since e* # 0 for every z € C, the singularities are determined by

642 - 1= ei(w+2p7r)’ pe Z,
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so the isolated singularities are
T T
S .z 7.
“ Z{4+p 2}’ pe

We see from
d
= {e¥+1} . =det=-420,

that these singularities are all simple poles with the residues

reS(f;zp)=%4 exp (i{%ﬂ?g}) =—g(1+i>~exp (zgp) pEZ

2) We have inside the curve 7, , only the two poles zy and z1, hence by Cauchy’s residuum theorem,
z 2
% —° _dx = 2omi {res (f;z0) +res(f;21)} = 2mi {—% 1441+ z)}
¥

1 4 e
1,72
omi (V2] Y2 _ T
8 2 V2

3) We may choose the parametric descriptions of the vertical paths of integration in the form
z(t) = r+it, t € [0, 7], where either r = ry or r = —ry.
If r =79 > 0, then we get the estimate

Q era-tit o2
i (2)dz S/o T ctratant dt < er2_1—>0 for ro — +o0.
If r = —ry <0, then we get instead
™ e—riit —
v, (z)dzg/o 1 4 e—4rit4it dtgw'mﬁo for r1 — +o0.
4) Finally,

T2 et
/] f(Z)dZ:/_Tlmdx’

71,72
and
-7 T LU T2 T
ere €
/ f(z)dZ:/ mdﬂﬁ:/ Tre @
11y, ra +etre -, Lte

It follows from (2) and (3) that

riraoteo fo o 14et®
hence
+oo et \/5
/_OO 1+ et "
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Remark 3.2 It is possible to find the value of the improper integral (which clearly is convergent)
without using the calculus of residues. First we get by the substitution ¢ = e*,

+oo e’ o0 dt
Co 1€ o 1+t

Then we decompose the integrand in the following way,

1 1 1 1
T+t — W) -2 (2P (var) (VR (2 VEEt)
B at +b ct+d
24+V2t+1 2—2t+1
hence
1 = (at+b) (tz—\/it+1)+(ct+d) <t2+\/§t+1)

= (a+O)P+(—V2a+b+ V2e+d)t* +(a—V2b+c+V2d)t+ (b+d).
Weget a+c=0,ie.c=—a,andb+d=1, so
—2v2a+1=0  and —V2b+V2d=0.

It follows that

1 1
a=——==—c¢ and b=d= -,
2V2 2
thus
11 2t + /2 L1 1 1 2t — /2 L1 1
T+t 42 £24+V2t+1 4 £24+2t+1 4V2 2-V2t+1 4 2-2t+1

Finally, we get the primitive

/{ 2% + /2 2% + 12 }dt:ln<t2+\/§t+1>—>0,

24241 22— \2t+1 22— \2t+1

for ¢ — 04, and for t — +o00. We therefore conclude that

oo e oo gt 1 [T 1 1
74 dx = —4:— + dt
o 14ete 0o 14+t 4 /o 24+V24+1 2—V2¢+1

B 1/+°° 1 N 1
4 Jo <t+ 1>2+1 (t 1>2+1
V2 2 V2 2
2 [e%e)
= £ [Arctan(\/ithl +Arctan(\/§t71}
4 0
V2(r o m 7w 2
- Tl o
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Example 3.8 Denote by A the domain
A=C\{ze€C|Re(z) =0 and Im(z) <0},
and denote by \/z the branch of the square root which is analytic in A, and which is equal to the usual

real square root on the positive real axis R .
Furthermore, let

FT,R:Iy-,R+IIR+III7-7R+IV;» fOT’O<’/‘<1<R,

denote the simple closed curve on the figure.

25

LI

Figure 6: The closed curve I', g med I, g = [r, R] and the circular arc ITp with a direction, (and
II1, r and IV, follow in a natural way). The pole i of f(z) is indicated inside I, .

1) Prove that

]gR f(z)dz = ﬁ (1 —1).

2) Prove that the integrals of f along the half circles I1gr and IV, tend to 0 when R tends to oo, and
r tends to 0.

3) Prove that the integral
400 1
———dx

s convergent and find its value.
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1) The only singularity of f(z) inside I',.  is the simple pole z = 4, so it follows by Cauchy’s residuum
theorem that

. 1 . 1
ﬁnR f(z) dz = 2mires <m ) 21 ll{g \/_ B =21 - Tm
V2
1—1 s (1)
= M — = —F= —1).
V2 V2

2) We estimate the integral along the curve I'V;. of the parametric description z(t) = re!(™=% t € [0, 7]
and 0 <7 <1, by

/ rdt v — 0 for r — +o0.
e

(1—1r2) 12

w, VZ (22 +1) 22+1

Along med I we choose the parametric description z(t) = R-e', t € [0,7], R > 1, and then get
the estimate

/ \/_ ) I;rQ\/_El —0 for R — +o0.

11, V7 (2 +1) 22+1
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3) We obtain along I11, g,

dz _1/7’4 dx _l/R dx ——i/R dx
e V2 (E2+Y) i) g ] (2241 i), Vo (22 +1) r vV (x24+ 1)
Taking the limits » — 04+ and R — +oo and applying the results of (1) and (2) we get

N dx T .
(1-1) | WZ—QU—Z):

hence

Foo dx T

o Ve @+l V2
ALTERNATIVELY we may change the variable to t = \/z, z =2, t € R,
oo du o at
— =2 —_—.
0 VvV (x2+41) /0 tt 41
Then we decompose in the following way,

1 1 1 1

Lttt (#2241 =200 20y (yan® (B4 V2E+1) (2 - V2E+1)
at+b ct+d
2+V2t+1 22— V2t+1

hence

H
|

(at+b) (tz—\/itﬂ) + (ct+d) (t2+\/§t+1)
= (a4t +(—V2a+b+ V2e+d)t* +(a—V2b+c+v2d)t+ (b+d).

We get a + ¢ =0, thus c= —a,and b+d =1, so

—2v2a+1=0 and  —+v2b+V2d=0.
Then
1
a:mz—c and bzdzi,
and
1 1 2t +/2 1 1 1 2t — /2 1

1
— . + - _ . + = .
L+t* 4V2 24+V2t+1 4 242t+1 42 22—2t+1 4 2—2t+1

Finally, we see that the primitive is given by

2 + /2 2t + 2 24+ V2t +1
- dt=In[—Y=""") >0,
24+2t4+1 2—V2t+1 2 —V2t+1
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Improper integrals in general

for t — 0+, and for ¢ — 4+00. We therefore conclude that

0

“+oo

1

J 2/*“’ dt 1/*00{ 1 N 1 }dt
g = a2
Vv (224 1) o L+ttt 2, 24+V2t4+1 2 —-2t+1

1 1

L T
[Arctan( 2t + 1)+ Arctan(\/_t )}

G-

SRl

wm
wm

sssssssssssssvsssssassssssssssssssssnssssssssssnnsssssssssssssssssssssssfilcgte]-Lucent @
www.alcatel-lucent.com/careers

2%

One generation’s transformation is the next’s status quo.

In the near future, people may soon think it's strange that
devices ever had to be “plugged in.” To obtain that status, there
needs to be “The Shift".

N
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

4 Improper integral, where the integrand is a rational func-
tion

Example 4.1 Find the value of the improper integral
/ teo dy
oo T

1) It is possible to compute the integral by a real decomposition; but this is not an easy method. We
shall here shortly sketch it in order to demonstrate the difficulties connected with it: By “adding
something and then subtracting it again, followed by factorizing the difference of two squares” we
get

2
x4:x4+2x2+1—2x2:{x2+1}2—{\/ix} :{m2+\/§x+1}{x2—\/§z+1}.

We conclude that there exist real constants A, B, C' and D € R, such that

1 1
zt+1 {x2+1}27{\/§x}2:{m2+\/§x+1}{127\/§x+1}
Ax + B Cx+ D
22422 +1  22—22+1

Then by the usual decomposition,

1 1 1 1

ﬁa - §a - ﬁa - §a
1
and we find a primitive of —— in the usual way.
x4+ 1
2) A wvariant of the method of decomposition above is to note that all four poles z; are simple, so

L _res(fim) | ves(fiz) | ves(fiz) | wes(f:z)

2441 z—2 Z — %9 z— 23 z— 2
where
1 20 1
res (%) = 1oy = 2 = 1%
3 1 s
dzy 4z, 4

by Rule II. We see that the z; are complex (they occur in complex conjugated pairs), so the terms
shall afterwards be paired together in the same way, before we find the real primitives.

3) Finally, we show that it is much easier to use the residuum formula. We shall first check the
assumptions. The integrand is a rational function with a zero of order 4 at oo and no pole on
the real axis. This implies that the improper integral is convergent and we can find it value by

computing the residues of the poles in the upper half plane. The four simple poles are exp (”%T),
p=1, 3,5, 7, of which only

<i7r> 1+14 (Biw) -1+
exp| — | = —= og exp| — | =

1)
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lies in the upper half plane.

If we as above use Rule II with A(z) = 1 and B(z) = 2* + 1, where B’(z) = 423, then we get for
any of the poles zy that

. - A (Zo) - 1 - 20 - 1
res (f} ZO) - B (ZO) - 428 - 4261 - 74 20,
because z§ = —1 for all of them.

Then by the residuum formula,

/+OO du 271 < res ! k. + res ! al
— T . I
e THH1 A4+17 2 A+17 2

x
Example 4.2 The improper integral fjoos oY dx is not convergent. Discuss what happens if one
x

nevertheless use the residuum formula.

The only singularity of the analytic extension of the integrand in the upper half plane is the simple
pole at zy = i. Here we have

z . .z 1
res| ——;i) =lim— = —,
22 +1 z—i 2z 2

so if we unconsciously put this into the residuum formula, then

+oo
“/ %dwz?m’-res L;i =mi”.
oo X241 22+1

This is of course not true, because if we could attach the improper integral a value (it is not convergent,
so one should at least use “Cauchy’s principal value” in order just to get a little sense into this
expression), and then it is obvious that a possible value should be reel and not at all imaginary.
The example shows that residuum formule formally often can be applied in cases, in which their
assumptions are not fulfilled. If so, they will usually give a wrong result.

Example 4.3 Compute
teo dx Feo x? teo dy
O S R B N O B
—oo (14 22) o (1+22) oo (14 22)

(a) The integrand has a zero of fourth order at oo, and since (1 + m2)2 # 0 for every z € R, the
integral is convergent. The integrand has the two double poles +i, of which only +i lies in the
upper half plane, so

T da _ 1 _ 1. d 1
——— = 2mi-res| —— 1| =2mi-— lim — :
—oo (14 a2) (1+ 22) 1 z2—idz | (2 41)?
-2 —4mi
= omilim ——— = =T
=i (z+4)3  (26)3 2
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(b) The difference of degrees is 2 where the denominator is dominating, and the integrand has only
the singularities +i (double poles, which do not lie on R). Hence, the integral exists and

2’2 2

d

too g2 1 z
/ ———=dr = 2mi-res| ———=;i :2m'~—lim.—{7‘2}
oo (1+22) (224 1) W e—idz | (2 414)
ori lim 2z 222 i 2i 22
= T — = 27 —
e e
T M@ 2@ 2
ALTERNATIVELY, we of course also have
@ at4+1-1 1 1
(1+22)°  (1422)° 1422 (1422)%
and then it follows from (a) that
+oo 2 +oo 1 +oo 1
[ e [ [ T
—eo (14 22) oo 1422 s (14 22) 2 2

(c) The integrand has a zero of order 6 at co and no singularity on the x-axis, and poles of order 3
at z = +i. Hence,

T da , 1 _ 1 d? 1
——— = 2mirves | ———— i | =2mi- o lim —— ¢ ——
oo (14 22) (22 4+1) 2! z—idz? | (2 +1)
.o d -3 . (=3)(—4) 12w 12w 3w
= i lim — - =i lim . = — = — = —,
z—idz | (z+14)* =i (z+1)° (20> 32 8
Example 4.4 Prove that
oo 42 ™2 Rl | 47 27
——dr = —— b dr = — sin —
(@) /,oo A1 T T ()/,oo B 17T M

2
x
(a) The integrand pranE] has a zero of second order at oo, and no singularity on the z-axis. The
x

poles in the upper half plane,

141 q -1+
z1 = an 2o = ,
1 ) 2 NG
are both simple with z1 - 20 = —1, so

dx

/+oo gg2
e 41

2mi qres | ——;
24 +1

2

omi d Tim o 1 22 2ml+ m'(+)
= 2mi< lim — im — | = — | — =—— (21 + 2
z—z1 423 zoza 423 4 \z1 2 9 V1 2
B W{1+i+—1+i}_ w2 o7 _77\/5
2 V2 V2 2 V2 V2o o2
46
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(b) First we note that we have a removable singularity at = 1, because

i x—l_l, 1 1
zl—>nllx5—1_x11>ni5$4_5

either by I’Hospital’s rule, or by a simple division,

r—1 1 1 f 1
= — = or x — 1.
2 —1 a2t 43424 2+1 5

There is no other singularity on R than the removable singularity at z = 1, and the integrand has
a zero of order 4 at oco. We therefore conclude that the improper integral is convergent. The poles
in the upper half plane,

2w dim
Z1 = exp ? and Z9 = exXp ? 5

/
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

are both simple, so the value of the improper integral is

/+°°x—1d - z—1 N z—1
T =2midres | ——; 2 res [ ——; 2
e TP —1 B—1" P17

2 2 .
. 2é—z . 2t —=z 21
lim = + lim = }:?{z%—zl—&—zg—zg}

z2—2z1 z z— 29 z

ami f (i o (2im\ (ir) (i
= —_— _ — _ —_— — ex _
5 17P( 5 P\ 75 P\ 75 P75
- 271 . _27ri e 271 _ 271 9 sin 2 _ 47 sin 2
T D PATF )T s 5 (5 5
Remark 4.1 Since

T 1+V5 T \10-2V5

cos ¢ = — and sin g = ————,

it follows by insertion that

oo p -1 4 . T T /
/;OO mdl’ = F‘Qslng'COSg:E’<l+\/5>' 10_2\/5
= 1 V10+8V5= 2110+ 2V5,

Example 4.5 Compute

+oo d +oo .2 1
(a) / 796”, n €N, () / Tl dux.
o @) o 2TH1

In both cases we see that the improper integrals are convergent (the denominator is dominating, and
the difference of the degrees is at least 2, and we have no singularity on the real axis R), so the values
can be found by means of the residues in the upper half plane.

(a) Since z = i is an n-tuple pole, we find

oo dx ) 1 _ _ 1 N Nen
/;Oo W = 27TZ-1“€S <W,Z> :27771' (n—l)' Lligdzn_l {(Z"‘Z) }
271, 1
= 0 () (=n—1)---(=2 N lim —
B 27m‘.(—l)”_l-(2n—2)!. 1 .L_ ™ 2n — 2
N (n—1!(n—1)! 22n—1 j2n — 92n-—2 n—-1 /)’
b) If z is one of the simple poles, then z4 = —1, so the residuum is given by
0
22 +1 2 +1 20 ;o
res <24——|—1’ ZO) = 4,2,’8 :—Z (Zo+1)

48
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

Then by using the symmetry, (the integrand is an even function),
too g2 1 [T 2241
/0 x4+1dx:§/_oo :c4+1dx
. 2241 LT 2241 3T
= m {res <Z4—+1;eXp (z Z)) + res (m;exp (z Z))}
m ¥ T 3w 3w
= 1 {exp (Z Z) (exp (z 5) + 1) + exp (z I) (exp (z 7) + 1)}

i . . . . m . . 44 - i T
= 4ﬁ{(1+2)(1+2)+( 1+4)(1—14)} = 4\/5{22 (—2i)} = WA
Remark 4.2 It is possible, though far from easy to compute the value of the integral by only
using the known real methods of integration from Calculus, i.e. by a decomposition. We shall here
only sketch the method.
If we only can factorize the denominator, the rest is standard, though still difficult. The trick is
here the usual one: Add something and then subtract it again,

x4+1:x4+2x2+1—2$2:(3324—1)2—(\/536)2:(3:2—&—\/5304—1) (mQ—\/ix—i-l).

Now we have written the denominator as a product of polynomials of degree 2, so we can in principle
decompose and then compute the integral. However, the factorization of the denominator shows
that this will be fairly difficult to carry through in practice. ¢

Example 4.6 Compute

“+o0 dx “+o00 zz
(a) /m N /m e

The denominator is dominating with at least 4 degrees in the exponent, and there are no poles on the
z-axis. Therefore, both improper integrals are convergent, and we can compute them by a residuum
formula.

(a) The integrand has in the upper half plane the three simple poles

14 26
(%) (i3) = 5
e 1= e i—) =1 e i— .
P\'s) xpt5 ) Xp 6
Let zo be anyone of these poles. Then in particular 2§ = —1, and it follows that

1 1z 1
res| —— . 2 = = — = —— 2.
1+26"7°) 7628 628 67

By insertion;

/+oo dx — 27m'{res(;'exp(iz))—l—res(#'i)—l—res(; exp(i5—ﬂ>)}
oo L af 14267 6 14267 1+ 26 6
3 6 3

I
|
[\
o3
<
—N
@D
»
T
—~
-~
ol
N—
_l’_
-~
_l’_
@D
]
T
N
-~
|
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Remark 4.3 The denominator can be factorized in the following way

L4a® = (1+422) (0 =22 +1) = (1 +22) (2" + 22° + 1 — 32?)

(z® +1) ((3:2 + 1)2 - (\/§$)2) = (2*+1) (x2 +\/§x—|—1) (332 - \/333—!—1),

so we can in principle decompose the integrand and then integrate in the usual way known from
Calculus. However, the coefficients clearly show that this will be very difficult to carry through. ¢

(b) Here we must not forget what we learned in the “kindergarten”:

oo 2 1 +oo d(m3) 1 3\j+00 T
/;oo 1+$6dl‘—§/;oo m—g[Arctan(ax )]7oo_§

ALTERNATIVELY (and this time far more difficult) we see that we have the same simple poles as

in (a), and then we get by the general expression of the residuum at the pole zq, where z§ = —1,
2 2 3
z z z 14
res| —— 20 | = —% = — = —= 2,
<1 + 26 0) 625 62§ 6

> Apply now

REDEFINE YOUR FUTURE
AXA GLOBAL GRADUATE
PROGRAM 2015

redefining / standards M

N

Click on the ad to read more

a
o)
]
[2]
f=
S
=
S
2
9]
=
[on
©
&0
S
3
2
o)
<n

50
Download free eBooks at bookboon.com



http://s.bookboon.com/AXA

Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

hence

/+Oo$_2dx = 2w {re ( & exp( 7T))—i—res <Z—2 >-|—res <Z—2'exp <z5_7r>>}
oo 1S 1426 6 14267 14267 6
2mi LT 3 b7 o .. us
= —?{exp(zg)—i—l +exp(17)}:—§{z—z+z}=§.

dx
* 1+a8

Example 4.7 Compute f

1
The function 153 has a zero of order 8 at co and no singularity on the real axis. Hence the improper
z

integral is convergent, and its value can be found by the residues at the poles in the upper half plane.
All poles are simple, and we have in the upper plane the four poles

z1 = ex <ZI> Z9g = ex 13—7T z3 = ex 25—7T Z4 = ex 17—7T
1= p 87 2 — p ] ) 3 — p S 3 4 = p ] .

We have for every pole zj that z7 = —1, so

1 1 1
res| ——; 2k | = 0= = — < 27.
1+28"7%) 787 87

Then by the residuum formula,

oo . 1 2mi . . 0w . 37 T .om T
= 2mi Azt zmt+zstza=—-2 smg—i-sm— :—~281n1-c0s—

oo 1428
1+cos
= —\/_\/ 1+—

ALTERNATIVELY, it is possible to decompose. Here, we shall only show how one factorizes the denom-
inator 1 + x%:

(2% +20* + 1) — 22" = (2 +1)° (\/— ) = <x4+\/§x2+1)<z4—\/§x2+1)
(a* 4202 +1) = 2= VD)2 { (o + 207 +1) - (24 v2) 2%}

g
N e N (R
(x2+\/mx+l> (:ﬁma:ﬂ) (z2+\/mx+1> (zQ\/merl).

Obviously, the following decomposition becomes very difficult, although it can in principle be carried
through.

1+ 28
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Example 4.8 Compute
+o0 +oo 2
rdx rodx
(a) / PRI (b) / T o2 a € R+.
oo (22 +4x+13) o (22+a?)

(a) It follows from
2?4 4o+ 13 = (z +2)% + 3%,
that the integrand has the double poles —2 4 3i, which do not lie on the real axis. The difference

of the degrees is 3 with the denominator dominating, so the integral exists, and the value can be
expressed by the residuum at z = —2 + 3i:

+00 d
/ O —omiires| —————— —243i
—oo (22442 +13) (22 +42+13)

27 I z ori I 1 2z
= — im —<{————,=2m lim — -
1! z——2+3i dz | (2 + 2+ 3i0)2 r——243i | (z+2+20)2 (2424 3i)3

= ] ! 2(-2+42i)\ _ 2mi . o
= 2mi { (61)2 - (6)3 } BRGIE {6i4+4—6i} = ~ 5

(b) Here we have the double poles +ia ¢ R, and since the difference in degrees is 2 with the denom-
inator dominating, it follows by the symmetry that

o0 1‘2 1 o0 $2 ) 22 .
———dr = ———sdv=mi-tes | ————;ia
o (z2+4a?) 2 )« (224 a2) (22 + a?)

i d 22 i 2z 222
= 7 Iim — e = 7y 11m -
e dz (z+1ia)? [t (z+ia)? (z+ia)?
)

+
ol )5 {8

Example 4.9 Compute
+o0 2 +o0 2
Tt —x+2 x©—1
—d b —————dx.
(@) /_OC A1 102 +9° () /0 sz +a”

22— 242
4 +1022 +9

22 =-5+V25-0=—-5+4,

i.e. the simple poles are

(a) The integrand has a zero of second order at oo and its poles are given by

3, —3i, i and —i.
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None of these lies on the z-axis. Since f(z) is analytic outside the poles and since we have the
estimate

uu>g§%

for [z >4 og Im(z) >0,

we conclude that

o0 _ 2
/Oo :cf—l—Tl;;—&—S) dx = 2mi {res(f;1) + res(f;30)}

2—3i (224 1) (2 + 3i 2i-8 —8-6i
5
{3 3i+9+31 -2} = 17;

. 2 —2z+2 . 22— 242 (-1—-i4+2 —-9—-—3+2
= 27 hm_—2+hm—_ = 271
D) (20 )

ALTERNATIVELY, one may apply the traditional real method of integration, by using that we have
proved that the integral exists. In particular

/+°° —xdx 0
oo 1022 4+9 7

because the integrand is an odd function. Then

Too 2 42 Foo 2 +2 1 [T dx 7 [T dr
LTS g = dr = = 2 o
Coo T+ 102249 oo (@2 4+9) (22 +1) 8 oo #2+1 8 J)_ 2249
1 7 107 51
— +_ - =
3-8 24 12

(b) The difference of the degrees is 2

where the denominator is dominating, and the denominator
is furthermore positive for every real x. Hence, the improper integral is convergent

. Since the
integrand is an even function, it follows by the symmetry, followed by an application of the residuum
formula that

+o00 2 +o00 2
z—1 1 ¢ —1
—dr =~ de — i y 9
/0 o 522 +4 772 /_Oo @ 5 4 (@2 4 1) 2o = i Ares(fid) Fres(f:20)}

= il e e e S e e oo
_ W{E_l}:l

12 3 12°
ALTERNATIVELY we decompose:
“+o00 2 “+o0 2
-1 -1
| att e[ aa de=
0 Xz + 5:[:2 + 4 0 (

2 +4) (22 +1)

2/+°° dz +5/+°° dz

3 )0 x*+1 3), 22+4
2 15 A 5 2\m™ mw

— > Arct Soohetan (3)| = (2-2) 2 =T

[ 3 mangc—l—2 3 rctan 5 }0 (6 3)2 D
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Example 4.10 Compute
(a) / J—

a o, 1

oo X241

1
(a) The integrand m

1, V3

+oo dx
(5) /_oo (22 4+ 1) (22 +4)°

has a zero of second order at co and the poles

Hence, the improper integral exists, and we may find its value by means of the residuum at

1 3
—3 +1 %, i.e. at the pole in the upper half plane:
/+°° du o 1 L,
—— = 2mi-rtes| 57— —=
oo T2 +1 2242417 2
1 271

= 2m

3 1
) \/_> = 2mi lim

2 @2,24—1

z~>7%+i

2
143+l i3 VB

Iy
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

ALTERNATIVELY, the traditional computation gives

1\
oo dx oo dx 1 T+ 9 T 2w
N o o N S 1 3 \/§ \/§ \/§ V3
Try) Ty 4 1 /1 1
1 . . .
has a zero of order 4 at co and the simple poles +i and +2¢ ¢ R.

b) The int d —5————
(b) The integran EEEEY
Hence, the improper integral exists, and its value can be found by means of the residues at the

poles in the upper half plane. We get

/_:o sy rm Tt { (WM ? Z’) e (m ; 2")}

N 1 1) o«
= i _— _— = _— = = —.
"™\2i-3" (=34 ) "\3 6J 6

ALTERNATIVELY,
/+°° dx 1/+°° dx 1/+°° dx 1 Arct 1A ton oo
= - . ———— = - |Arctan z — — Arctan —
oo (@2 +1) (22 44) 3 ) 224+1 3 ) o 2244 3 2 2]
1 { 7T} T
fr— —_ m— — = —
3 2 6
Example 4.11 Compute
+o0 +oo
dz dz
@ [ ey O erimrmey
oo X242+ 2 oo @2+ 1) (224224 2)
1 . )
(a) Here ————— has a zero of second order at co and simple poles at z = —1 £ i ¢ R. Hence,

22 4+22+2
the improper integral is convergent, and its value can be found by a residuum formula. However,

the easiest method here is actually the traditional one,

oo dx oo dx
—_— = ————— = [Arct D]FC = 7.
/OO $2+2$+2 [oo (.’I,‘+1)2+1 [ rc an(a:Jr )]—oo e

For comparison we get by the calculus of residues,

1

oo dx 1
/ - = 2mi-res| ———; —1+¢) =2m lim ——
o T2H2r+2 2242242 z——1+iz+ 1414

211 211

—1+i+1+di 2
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(b) The integrand has a zero of order 4 at oo, and the simple poles +i, —1 +4 ¢ R, so we conclude
that the improper integral is convergent, and its value is given by

/+°° dzx
oo (@2 1) (224224 2)
= 2 {res ((z2 +1) (zi + 22+ 2) ; Z) e ((z2 +1) (z2 +22+2) ; —u)}

1 1 1 1 1

= il —. — - 4=
m{% —1+2i+2+{(1+i)2+1}-2i} ”{1+2¢+12¢}
1-2+1+2i 27

1+4 5

Example 4.12 1) Ezplain why the improper integral

/+°° z2dx
o (@2+1)(z2+4)

is convergent, and find its value.

2) Compute the complex line integral

% 22dz
=3 (22 +1)% (22 + 4)

1) The integrand is a rational function with a zero of order 4 at oo and with no poles on the real axis.
The poles are z = +i (double poles) and z = £2i (simple poles), so the integral is convergent, and
its value can be found by a residuum formula,

oo 22dx , 52 . 52 ‘
/—oo @@y {res ((z2 F1)2 (22 +4)] Z) e ((22 +1)2(22+4)] 21) } ‘

Here we get straight away,

o 22 , 1 I d { 22 }
T 1| =—=1lm—< ——55—<
(224 1) (22 +4) 1! z=idz | (z41)% (22 + 4)

lim 2z _ 222 2222
a—i | (240)2 (2244)  (249)3 (2244)  (244)2 (22+4)°

2 =2 (-2 2 L2 2
C (2033 (26)3-3  (20)232 4.3 8-3 9-4
i 5i
=—(-6+3-2)=——
36( - ) 36’

and

22 ) . 22 —4 43
res 5 ;26 | = lim 5 — = T = a2
(22 +1)? (22 +4) =2 (224 1)° (2 42i)  (=3)%-4i 36
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so by insertion,

/+OO 2 dz S L G
oo (22 +1)2(22+4) 36 36 36 18

ALTERNATIVELY, we may first decompose to get

u A B C

Wt 12(utd) utd nil @r?

Here we immediately get

4 4 11
A= - = d C=—"=_2.
(32 9 ™ 3 3

Then by insertion, rearrangement and reduction,

B u LA 1
u+1  (u+1D2(u+4)  9u+4 3 (ut1)2
1 1
P 4 1)? 4
A CESNTONwY {9u+4(u+1)"+3(u+4)}
1 1
= - {4 1)? 412 1
9 wrery Hr D2}
4 w143 41
9 (u+)(ut+4) 9 u+l’

Then put u = 22 to get

+o00 $2
/ 5 dx
—oo (22 4+1)7 (22 +4)

4/+°° dz 4/ 1/+°° da
9 ) 22 +4 9 w2+1 ceo (224 1)
4 L[t
=—— {Arctan (E)} Arctan T|t2 - —/ d—x2
3) @t 1)
2 1/+°° dx
9 3 o (.’L’2+1)2
We can now compute the integral
/+OO dx
oo (22 4+1)°

in a number of ways:

a) We get by the calculus of residues,

oo dp . 1 . d 1
/ ————— = 2mi-rves | ———;i| =2mi lim -
e (2241) (2241) 1' a—idz | (2 +1)?

- wmiim -t ) - <‘<2j>3> e

57
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

b) ALTERNATIVELY, we get by a partial integration
+o00 d +oo +o0 2 +002.T2+1 -9
[T - [2#] -y 2ot -2,
o 2241 241) o e @2+ 1) o (@24 1)

—+oo —+oo
_ 2/ d_x_Q/ _dr
—00 .’E2+1 —o0 ($2+1)

and then by a rearrangement,

/+°° dx _1/+°° dv  w
oo (@241 2 ) o 22412

Finally, by insertion,

/+°° x? 27
5 de = — —
oo (24 1) (22 +4) 9

™ ™

e

2) Since all pole lie inside |z| = 3, and since we have a zero of order 4 at oo, we get by changing the
direction on the path of integration,

% 22dz ]{* 22dz o res( 22 oo>
2= (22 +1)% (22 4 4) 2= (22 +1)% (22 4 4) (22 +1) (2* +4)
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

Example 4.13 1) Find all complex solutions of the equation

2+ 522 +4=0.
2) Prove that the improper integral

teo g2 1
T3 dx
0 x4 4+ 52° +4

is convergent, and find its value

1) We get by the factorization
0=z +52+4= (22 +1) (22 +4),
the four roots
i, —1, 21, —2i.
2) The integrand is a rational function with no pole on the z-axis and with a zero of second order

at oo. Hence, the improper integral is convergent. Since the integrand is even it follows by a
reflection and the residues at the singularities ¢ and 2¢ in the upper half plane that

oo 92 1 1 [T 222 -1
/ ﬁda?:—/ 5
0 z* +5z% +4 2 ) o *+02%+4
271 222 -1 . 222 -1 .
B 7{res<z4+522+4;z>+res<z4+522+4;22>}
= m’{lim—QZZ_l bt 2L }
25423 + 10z 2—2i 423 + 102
(1 —-2-1 1 —-8—-1 1 9 ™
- 7”{2'—4+10+E'—16+10}:”{_TLE}:Z'

ALTERNATIVELY, the traditional method of decomposition gives that

221 w*-1 13
o +522+4 (224 1) (22 +4) 22+1  22+4’

hence

/+°° 222 -1 J /+°° 1 J +/+°° 3 J T, 3
— 5 axr = — ——— ax ——— ar = —— + - -
o x*+5x24+4 o 241 0 x244 2 2
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Example 4.14 Prove that the improper integral
+oo 1 2
/ X2 g
oo 142z
is convergent, and find its value.

We estimate the integrand for |z| > 1 in the following way,

1 2
T+ =
1+2% 1 () 2
0<g(x):= R o2

_1+x4 z21 1 4 2’
*(5)

1
Since the improper integral f 1+oo — dx is convergent, the given integral is also convergent.
x

-2

1

7

1
Figure 7: The curve Cg for R > 1 and the singularities :I:—2 +

V2

We can now find the value of the improper integral as a Cauchy principal value via the residuum
theorem.

The denominator has the simple poles at the points

w=ep(iT+p3),  pef01,23}
where the former two lie inside the circle of integration C'r. We get by a small computation
1 144
S ), =0,
1+22 1 ) 4 V2
res (9(2); 2p) = 123 :_ZZP (1+Zp) = .
P 1 -1+ (1—i) 1
—_—. —1 s = 1.
TN b
Both residues are — SO

R R
A7 - —— :j{ g(z)dz:/ g(z)dz+/ g(Reit)~iR€i9d9, R>1.
V2 Jeg 0
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If R > 2, then we have the following estimate on Cg,

1 ) 1

1+_e—21t 1 L
2 + 5
| (Rew)|zi.‘37<i.7l%2<i a
9 R2 1 - R2 1 R2 13~
1_’__6741'15 11— — 16

R4 R

It follows easily that the line integral along the circular arc tends to zero, when R — 400, so we
finally get by taking this limit,

+O<>1 2
/ T dr = /2.

oo It

[ ]
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

Example 4.15 Given the function

)= 5

and for every R > 1 the closed curve yg = I+ II 4+ III (see the figure), enclosing the domain

Ur = {z =ret

2
O<r<RaMO<t<§}.

Figure 8: The curve yg = [ + 11+ 111, enclosing Ug. Here, I = [0, R] is an interval on the z-axis, IT
is the circular arc, and II1 is the oblique line.

1) Find

fdz.

TR

2) Prove that the line integral along the circular arc II tends towards 0, when R tends towards +oo.

3) Prove that

/*w 1 o
dr = .
0 I3+1 3\/5

1
1) The function f(z) = Y has the simple poles
! (-i3) (i3)
z1 = — zg=e —i= zz3=e i=).
1 ; 2 Xp 3 ) 3 Xp 3
If R > 1, then only z3 = exp (z %) lies inside g, so it follows by the residuum theorem that

1 2m 23
dz = 2mi- (23) =2Mi sy =
. f(z)dz i -res (f;z3) = 2mi 522 32

- Few5)=F 5P =5
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2) We get along IT the estimate

/ dz
II 23+1

3) Along I11 we choose the parametric description

1 2
§R3_1~§R—>0 for R — +o0.

(R—7) exp <z2§) . rel0R,

SO

27
P (,%)/R dz
dr = —exp | i—
0

R
1T (2)dz = /0 14+ (R —r)3exp(2mi)

Then by insertion and the limit R — +oo,

(Vi) - RETwﬁRf(z)dz—O-k{1—8Xp(i2§>}/0+oox3df_1
{§_i\/_§}/o+oo il =§(f—i)/o+ooxsdil’

2 2 341 2

so by a rearrangement,

/+°° dr 2w
o @ +1 33

Remark 4.4 The integral can in fact also be computed by more elementary methods. We get by a
decomposition,
1 _ 1 11 +1 3—a2?2+r—1
B+l (z+1)(@2—2+1) 3x+1 3 (@2—a+1)(z+1)
1 3
r—-)-2
11 1 z-2 1 1 1 2) 2
- 3z+1 3 a22—z+1 3 z+1 3 1\? 3’
(“5) "1
hence
T da 1 [T dx 1 [T 221 1 [t dx
0 2341 3Jo x+1 6J), x2—-z+1 2 Jo 1 3
(“”‘5) "1

1 22422 +1\17° 1 2
= — |In| ————— + - —
6 > —x+1 /], 2 V3

- 0+%{g+ Arctan(%)}z%{gﬁ—%}:%. 0.
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Example 4.16 Given the function

22

&)=y

1) Find all isolated singularities of f in C, and specify their types.

2) Prove by using the calculus of residues that the improper integral

o0 332
/ 5 o dr
0 zt+ a4 41

; t of the value —
1S convergent o e value —-—=.
I 23

One may use that f(x) is an even function.

1) First note that

(z2—1) (z4+z2—|—1):z6—1=0

for
z:exp(im), p € Z.
3
When we again remove the roots z = +1 of the auxiliary factor z2 — 1, we see that the simple
poles are
(_W)71+_\/§ om\ 1+.\/§
explig)=5+i5, expli5 | =—5+is,
(Jr)_l V3 o\ 1 3
exp 3)=3 5 exp| —io ) =—5 i

2) Since we have a zero of second degree at oo, and since we do not have any pole on the z-axis, we
conclude that the improper integral is convergent. The integrand is even, so we get by an extended
residuum theorem that

+o00 22 1 +o00 72
———dx — ———dx
o rt4a?+41 2 ) o 42241
2
= m’{res (f(z);exp (ig))—f—res <f(z);exp <2§>)},

2T
3

because exp (z g) and exp <z > are the only singularities in the upper half plane.

Using the rearrangement

f(z):z4+22+1: 26—-1 7
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we get
2(,2 _ .
res (f(z); exp (z %)) = [2(271)] = % -exp(im) - {exp (%) - 1}
z=exp(i%)
1 3 1
= —6{——+z§—1} :E{3—z\/§},
and
res <f(z);exp (z?)) = lﬁ(ffs_l)] =--1 {exp (—)—1}
z=exp<z%’)
- —%{—l—ig—l}:%{—?)—z\/g},
hence by insertion,
Foo 2 i . ™3 T
/0 ATETI T (VY= =

Vowo Toucxs | Rewanr Tovcks | Mack Toueks | Vowo Buses | Vowo Coxsteucrion Ecuresent | Wowo Pesm | Vowo Aemo | Vowo IT
Vowo Fieskcer Sepaces | Vowo 3P | Vowo Powemreaim | Vowo Paers | Vowo Techwowosy | Vowo Loasncs | Busieess Anes Asie
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

Remark 4.5 Since
z4+22+1:z4+222+1722:(22+1)2722:(22+z+1) (z2fz+1),

it is of course also possible — though not quite easy — to use the method of decomposition. This variant
is left to the reader as an exercise. ¢

Example 4.17 Given the function

2

f(z) = Z4—_Ha

and for every R > 1 a positively oriented curve
I'r=Ir+1Igr+ IRy,

(cf. the figure), which surrounds the domain

UR:{z:re” ‘ 0<T<R090<t<g}.

-0.5

Figure 9: The curve I'g, starting with I = [0, R] on the z-axis and with the singularity exp (z %)
inside the curve.

1) Prove that

(2)dz = T

3 55 (1)

2) Show that the line integral along the circular arc 11 tends towards 0 for R tending towards +oo,
and find the value of

400 2
x
—dx.
/0 A1
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1) The function f(z) has the four simple poles

zp:exp(i{g—i—pg})7 pe{0, 1,2 3}

Of these only

zozexp(i%) :\/i?(l—f—i)

lies inside I'g, when R > 1. Then by Cauchy’s residuum theorem,

22 22 w1
FRf(z) z mires (Z4+1,z0) i yre s M
2 (1 —14
T I S Clk) S S
2 1+i 2 2 2V2

2) We use along the circular arc I1x the parametric description z(t) = Re®, t € [O, g}, so we get
the estimate for R > 1,

22 3 R? T 1
—E d|< | = Rat=". 0
/,,Rz4+1 - —/0 Ri 1 2 T

when R — +o0.

Finally, we use along IIIr on the imaginary axis the parametric description z(t) = (R — )i,
t €0, R], giving

22 B (R —1)%2 _ (R g2
/,HRZ4+1dZ_/O (R—t)4i4+1'(_l)dt_’/o iy

Then by (1) we get by insertion and taking the limit R — +o0,
22

T
4 +1

2v2

hence

/-‘rDO .’L’2 T
dx = .
0 x4 +1 2\/§

ALTERNATIVELY, we get by a decomposition,

+oo
(1+i):(1+i)/0 dz,

x? x? x? z?
1 x4+2x2+1—2x2:(x2+1)2_(\/§x)2:(x2+\/§x+1)(x2—\/§x+1)
ar +b cx +d
- (x2+\/§x+1)+(x2—\/§x+l)’
thus
2 = (ax—i—b)(m2—\/§x+1)+(cx+d)(x2+\/§x+1)

= (a+0)z+(b—V2a+d+V2¢)2? +(a—V2b+c+V2d)z+b+d.
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By identifying the coefficients we clearly obtain that
a+c=0 and b+d=0,

SO

V2(—a+c)=1, thus ¢ = —a =

Sl

and b = d = 0. Hence

22 1 x x

1 2\/§{x2—\/§x+1x2+\/§x+1}
o we V2 % 1 V2 ¥
42 x2f\/§x+1+x27\/§m+1_x2+\/§x+l 22 4+V22+1

1 20 -V2 2042 N
A2 | 22 —V2x24+1  22+V2x+1

1
e e

dx is convergent, and

X
Clearly, the i integral [,
carly, the improper integral [, x4 1
+oo 9 +oo 2
1
/ f_dz:_/ Y g
0 X +1 2 —o0 $4+1

1 1 /R 20 — /2 20 + /2
= — Ilim — dx
2Ro4od/2 J g |22 —V2z2+1 224+V2x+1

11 +oo
—&—5 1 [\/ﬁArctan (\/gx — 1) + /2 Arctan (\/5:5 + 1)]_00
R
1 2 —\V2x+1 1 T T
= —= lim |In|——2—— b (T =04 —= = —.
82 R#oo[ <z2+\/§x+l> e TG T
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Example 4.18 Given the rational function

224241

&)=y

1) Find all the isolated singularities of f in C, and specify their types.

2) Prove by calculus of residues that

/+°° e | 2m
U, ——— Al = .
PO o a2+l V3

1) First variant. If z # £1, then

22+z+1_(z+1)(z—1)(z2+z+1)_(z+1) 23—1_z+1 1
242241 (22-1) (24 +224+1) B

and the simple poles are

z1=—+1 and 29 = — —1

DO | =

ol
w

[N}
S

N | =

EXPERIENCE THE POW

FULL ENGAGEMENT...

RUN FASTER.
RUN LONGER..
RUN EASIER...
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Complex Funktions Examples c-7 Improper integral, where the integrand is a rational function

Second variant. Obviously, z = 41 are not poles. Now,
(z2=1) (" +224+1)=2°-1=0
for

Z = exp (z %) , for p € {0, 1, 2, 3, 4, 5},

and since we shall remove p = 0 and p = 3, because they stem from the auxiliary factor 22 — 1,
the singularities are

N Ty 1 V3
a o= ew(iz)=g+ig
. 27 1 V3
2o = exp(z?):—§+27,
- Arm 1 V3
zZ4 = eXp(Z?):—i—ZT,
Zs = exp(zﬁ)liﬁ
3 2 2

Each one of these is at most a simple pole, and they could even be removable singularities.
Analogously,
(z=1) (P +241)=2°-1,

so since z = 1 is a “false” singularity coming from the auxiliary factor z — 1, the numerator
has the roots

1 3 1 3
22:—5-‘1-’&'%, and 54:—5—’-%'\/7—,
which will cancel the same zeros in the denominator. Thus
1 3 1 t3
22:—§+i§, and 24:—§+¢ng ,

are removable singularities, while

1
21:§+27, and 25:

are simple poles.

—1 ,

V3
2

DN | =

2) The integrand is defined on R, and since the integrand has a zero of order 2 at oo, the improper
integral is convergent, and we do not need the notation “p.v.” (= “principal value”). The improper
integral can be computed in a number of ways.

First method. By a simple integration (without using the calculus of residues) it follows from
the first solution above that

/+°° 2 +r+1 /+°° dx /+°° dx
——dr = - = - 5
oo T+ 2?41 oo X2+ 1 e 1 9

(=-3) 3

A (D)%
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Second method. We shall in the calculus of residues use that only z; = = + i

>

1 — exp (i 5)
2 BN
lies in the upper half plane and that z} = —1. Then

Too 2441 ) z4+1 Mz +1 21 22+
——d 2mives | ———; 21 | = 2mi = 3
z

oo T2+ 1 * +1 322 3 23
21 27 V3 2T
= _—— z z = —— 2.'_ = —,
3 {Z2+ %1} 3 ( i ) 7

Third method. Calculus of residues without a reformulation gives the following difficult compu-
tations,

T2 p 41 ) 224241
5 dT 2mires | 7 ————; 21
o T+ +1 2t 4224+ 1

— omi Z%+Z1+1 — o Zo+z1+1
o 42% + 221 - 4Z~3 + 221

= 2m \/_
1 3
A=) +2( = +i—=
(-1)+ (2—|—z 2)
, 1+4V3 omi 1+14V3
= 2m == —=

4+ 1+0v3 VB B+
2 i—+/3 2T

V3 —VB+i VB

This e-book Y o N
ismadewith SETASIGN

SetaPDF h Y 4
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5 Improper integrals, where the integrand is a rational func-
tion times a trigonometric function

Example 5.1 The transfer function of a RC-filter is given by

1

&) =1 orires

Find the corresponding answer.

The corresponding answer is given by the improper integral

e 2mixt 1 e 1 2Tt
h(t)=/ f(x)e dt:mRC/_oo e da,

o _
2nRC
Here, 21 = . is the only pole of the corresponding analytic function
2nRC
1 1
JG) = omiRC i
2rRC
1
and it is obvious that there exist constants k, and r > 3RO such that we have the estimate
s
k
lf(2)] < F for |z| > r.
z

Since f(z) does not have any singularity in the lower half plane, we conclude from the corresponding
residuum formula, which here is empty that

h(t)—/+oof( ) e2mint g = /+°° L emetgp 0 fort<0
=/ T)e x_Qm‘RC . e T = or .
2rRC

If instead t > 0, then, since we have already checked the assumptions of the validity of the residuum
formula,

+o00 ) o 6i27rzt i 1 t
_ 2mixt . —_ . _
) _/ J@) ™™ = SR T __ i ‘2RC| T RC eXp( RC)'
2nRC
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Example 5.2 Compute the improper integrals
o reosx T rsinz
———— dv 0g —— do.
oo TAH1 oo T2

Here we must consider the analytic function

iz

ze
22 +1

, for z # 41,

Z COosz z sinz

and . Clearly, the rational function ———
22 +1 2241 v 22
no pole on the X-axis, so the assumptions of the residuum formula are fulfilled. Since m =1 > 0, the
pole z = ¢ in the upper half plane is the only relevant singularity. Hence by the residuum formula,

T petw ) ze® Cdett o
Q—d:v:2mores -t =27 — = —.
N | z2+1 i+ e

Then by separating into the real and the imaginary parts,

+oo +o00 .
/ x;osxdx:() og / xsmxdx: :
Lo 2241 22 +1 e

instead of

has a zero of first order at oo and

— 00

Example 5.3 Compute

TOO g sinx T cosTa
—d b —dx.
@ [CSRge w [T

x
(a) Here P is a rational function of real coefficients and with a zero of first order at co. The
x

denominator does not have real zeros and

z

m‘gm for |Z|Z47

so we conclude that the improper integral is convergent. Using that
sinz = Im (e“‘w) ,

where 1 > 0, it follows by the residuum formula that

oo . 1z 12 je3
T sinx . <¢e : i =¢ sic
/m P Im{m'reb (Zz—+9 32)} —QWRQ{JL%H&} _2”Re{3i+3i}

-3
= 27‘('36 :1.
6 e3
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1
(b) Here Y has a zero of fourth order at co and no poles on the z-axis. Hence, the integral is
z

CoS T
convergent. Since 4—:4 is an even function, it follows by the symmetry and a residuum formula
x
that
+o00 400 +o0 imx
COSTTT 1 COSTTT 1 e
/ e 4” = - (Re) / dx
0o zt+4 2 x +4 2 o x4

ei‘n’z )
17rz |:e7i7rz:| ) |:Zei7rz:| N |:Zei7rz:|
=T
z 14i 42 ]y L P Azt | 1y,

) ) ; 1
k= {<1+z> T (LT = e = e

Example 5.4 Compute

ToO cosw oo cos T
@ | Gt 0 | amam

(a) We see that B has a zero or order 6 at co and no real pole. Hence the improper integral

3
+ 22)
exists. The integrand is an even function, so by the symmetry, followed by an application of a
residuum formula,

+oo ix iz
/ ﬂdmz (R)/ e—dx:m'-res 673;2‘
o (1+ x2) oo (14 22)° (1+22)

1

2
i im _ ili d ie’* - 3e’?
-7 2' z—i d22 Z—|—Z T2 i dZ (Z+Z)3 (Z+Z)4

e lim 6i e'? N 12 et* i e ! Gie ! 412 e 1
= 1 — = {— — .
2 i (Z + Z) (z+0)*  (2+14)° 2 | (20 (29 (2)°
2 7
_ { (20)° = 6i- (20) + 12} = - {4+12+12}_F776.

(b) We get by a decomposition that

1 11 11
(14+22)(4+22) 3 2241 3 2244’

so it follows immediately that the integral is convergent. Then by the residuum formula,

oo cosx 1 [T cosz 1 [T cosx
doe = = —dx — = —dx
oo (T4 22) (44 22) 3 ) o 241 3 ) o 22+4

e~ ! 1 e? 1 =~ 1 1 s
Red2mi- &b~ “Redomi- & t=2-.0 2. — =" (21
e{m 22‘} 3 e{ ™ 4¢} 3¢ 73 22 gV
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.5 Prove that

+oo +oo ,
/ COSQZQ da::/ cos & 2dx:E.
—o00 1+ —o0 (1 +£U2) €

Clearly, both integrals are convergent, and we can apply the residuum formula. Thus

+o00 00 ix iz -1
COS T e . e . . € s
/m o7 d:L'Re{‘/OC w2+1dw} Re{2m~res<z2+1;z>}27rRe{z~2i }ev

and

+oo . "F00 iz iz
/ Ccos _da Re / _c 5 dxr p = Re | 271 - res — 550
o (L+a?) o (@24 1) (2 +1)
1 d eiz ieiz 2€iz
2nReqi- — lim — | —— =2mReqi -
T e{Z 1 -2 dz ((z+i)2>} m e{’ [(z+i)2 (z+i)3L_i}

fie ™t 2e7! _9rR et 2e71 _ 2m 1+1 o
N@E  @E)f =™ s w2 T e \daT1) "¢

|
)
3
=
@
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.6 Compute
ToO xocosz Too o grging
—_d b —_—dx.
I e TN = T
It follows from

/+°° T e%% d /+°° T COST d +,/+°° T sinx d
— dx = —  _dx+i —dx
e T2 —21+410 oo T2 =22 +10 2 =2z +10

— 00

that it suffices to prove that

+oo T el
/ B o110
oo TE—22 410
exists and to find the value of this integral.

We see that has a first order zero at oo and simple poles at z = 14+ 3i ¢ R, hence the

z
22 —22+10
improper integral exists. Since m =1 > 0, we can compute the integral by a residuum formula,

+oo T iz iz
ze ze ze
7 dr = 2mi-res| —"—" 143 ) =27 S
/,oo 2225 +10 m reb(z2—22—|—10’ * Z) s s 113
1435 i(1431) .
% = g (1+ 3i)e*{cos1+i sin1}.
i
Then by a separation into the real and the imaginary part,

(a)

= 2mi-

“+o0
T COST 7T .
/Oo mdl’z @(COSl—Sslnl),

(b)

+oo 3
T Smx ™ .
/ mdl’:@(gcosl+slnl).

— 00

Example 5.7 Compute

T rsing oo dx
—d b .
(a) /,Oo 2 1dr+20°" () / 1+ 22

— 00

(a) The function has a zero of first order at co. The poles are

z
22 + 42420
—244i ¢ R,

so by a residuum formula,

/+°° T sinx d I /+°° x e d
———  dr=1Im ——dx
oo T2+ 4z +20 oo T2+ 4420

Im < 27i e 2+ 4 97 -Imdi- i ze
= 1m 7 - Tes —_— . — 1 = -1m< 7 - m —_——
T 2 +42420° T e T ST
—92 4i i(—2+441)
:27r-Im{i-( + ;)e
1

} = ;?(2 cos 2 + sin 2).
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

(b) We have of course,

+oo d
- [Arctan |T%° = 7.
oo 1+ a2?

ALTERNATIVELY, it follows by a residuum formula that

T dr , . 1 27
=2mi-res | —— ;i | = 2w lim - = — =7
oo 1422 1+ 22 z—iz i 20

Example 5.8 Prove that

T cosx T
dr = =
o coshx

wh_'
cosh 3

HINT: Integrate the function B
cosh z

and let R — +o00.

along a rectangle with the corners —R, R, R+ 7i and —R + i,

Figure 10: The curve C, with the singularity zy = i g inside C;.

We shall use the hint, so we call the curve Cg. It follows from

coshz =0 forz:ig—i-ipﬂ, pEZ,

that z =1 g is the only singularity (a simple pole) lying inside C'r for every R > 0. Hence by Cauchy’s

integral formula

cos z , cosz . .
o dz=27rz-res( o ;z—):2m-7
Op COsh z coshz ' 2 sinh (z
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

On the other hand,

j{ cosz o _ /R cosw dx—/R cos(z + im) i
¢y cosh z _p coshz _p cosh(z +im)
+i/ cos(R + zy) dy — z/ cos(—R + zy) J
o cosh(R+ 1y) o cosh(—R +iy)

We first note that

/R cos(x + i) d /R cosa:-coshﬂ—isinx-sinhwd
_ bid W LILUY = - x
g cosh(z + im)

rcoshx-cosm+4 sinhx-sinm

B cosx o R sing
= coshm dr — i sinh dx
_p coshx r coshz

R
= cosh7r~/ oSy dx + 0,
r coshz

because the latter integral has an odd integrand. Summing up we get for the first two terms,

R R , R
/ o8 T d:r—/ cos(@ +im) dr = (l—i-cosh?T)/ BL .

_pcoshz _p cosh(z +im) R coshz

Clearly, this integral is convergent for R — 400, because the numerator of the integrand is bounded,
and its denominator tends exponentially towards 0 by the limits + — +o0o. We only have to show
that the contributions from the vertical axes tend to zero for R — +oo. It follows from

cos(R+1iy)  cosR-coshy —isin R-sinhy

cosh(R +iy) coshR-cosy+isinhR-siny’

when 0 <y < 7 that
cos(R + iy) ?
cosh(R + iy)

cos? R - cosh? yy + sin® R - sinh? y B cos? R+ sinh? y
cosh? R - cos?y + sinh? R - sin®y  sinh® R + cos2y
1+ sinh® 7 B cosh?
sinh? R sinh?R’
The length of the path of integration is 7, so we conclude that
/Tr cos(R—l—iy) p ’ oo coshm
o cosh(R + iy) sinh R

0 for R — +o0.

Since also

cos(—R + iy) - cosh

cosh(—R +1iy)| ~ sinh R’

it follows in the same way that the latter integral tends to 0 for R — 4o00. Summing up we get by
this limit,

T cosx

(1 + cosh) /

dx = 27 cosh E,
oo 2

cosh x
and since

1+ coshm =1+ {2cosh2 g - 1} = 2cosh? g,
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

we finally get that

.- — .
—co COshz 2 cosh? g coshg

T
/+oo COS T ; 27 cosh 5 o

Example 5.9 Compute

+oo +o00 :
CcosS T sin 2z
_ b — dx.
(a) /_OO W /_OO S

The denominator is in both cases a polynomial of degree grad 2 without zeros on the z-axis. The
numerators are purely trigonometric, so we get by a residuum formula,

(a)

oo oo giw iz 02
cosw e ' . . . o
/_ z2+4dx:<Re)/_oo x2—+4dm=2m~res(m;2z): = .27rz:—2€2.

o0

360°
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

(b)

+oo ;

2

/ _sin2z . o
oo T2+ +1

+o0
)
/Oo a:2+:c+1
2iz 1
= Im< 27 - res € —+i§
+z+1 2 2

2z ei(—1+4iV/3)
= 27 =Re27r ——
z—>—l+z‘f2z+1 —1+iVv3+1

271'

. 27 V3
— (= e sin 1.
} Ve

w

Example 5.10 Compute

+oo .3 +oo .2 .
(a) /0 T smxdx, ) /O T 0053372 d

zt +1 (22 +1)
The integrands are in both cases even functions, so they may be extended by symmetry to all of R.
Furthermore, the difference of degrees of the numerator and the denominator of the rational function

of the integrands is at least 1, where the denominators are dominating, so the integrals are convergent,
and we can find their values by a residuum formula.

(a) The zeros of the denominator are determined by 2% + 1 = 0, so
1 1
4+t
V2 V2
and we get
400 3 .. +00 .3 .1 +oo .3 ix
z” sinx 1 z’sinw 1 z’e
——dr == ——dr =1 —d
/0 A1 Y 2/_00 A1 Qm{/_oo A1 "T}
oo (27 ) e (G e )
= —1Im< 27 |res res | ——; ——+ — .
2 VRN S NI
Let 2o be any pole. Then 2§ = —1, and
23et% 286”0 1 izo
res| —— ;20 ) = =-e
A1 70 128 4
hence by insertion,
/+°°xsma:d . {,1 (_(1+i>>+_1 (( 1+i>>}
———dr=nlmqi-—exp|i|—=+—& i-—expli|——4+—4
0o @+l 1 2 V2 1P\ T e
7TI 1 ) )
= —Im xp | ——= | -
5 i-exp 5
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

(b) Here z =i is a double pole. It lies in the upper half plane, so we start by computing its residuum:

o ZSESiz ) 1 i d 2263iz i 22637;7; N 3,L‘2263iz 22263iz

T ——5 1 —lm—< ——F5 9 = lim —

2+ 17 Wamids e+ =i lG+)? T @+ (40P
o 2ie? N 3i(—=De™®  2(=1)e® e? i+ 6i— 2(-1) . 1
o (20)2 (2i)2 (243 8 —i [ 2e3

Then by the symmetry and the residuum formula,
Heo 1172 cos 3z 1 too ;172 CcOS 31* 400 2 37,:5
— s dr = 5 ——dx
o (22+1) 2/ o (22+1)° 1) oo (22 41)
1 2 322 1
= = ReX{ 2mi-res —Re i i — b T
2 (22 +1)% 2e 2¢3

Example 5.11 Compute

oo T sinx Foo sinx
———d b —d
%) /0 Y R /_OO 2t dz+5

In both cases the integrand satisfies the assumptions for the application of the residuum formula.

—

(a) First we get by a decomposition,
1 1 11
(x24+1) (22 4+4) 322+1 32244
The integrand is even, so by the symmetry, followed by an application of the residuum formula,
oo x sinw 1 [t T sinx
2 ) =g PrneErn ™
o (@*+1)(*+4) 2) o (@*+1)(z*+4)
1 [t zsinz 1 [t zsinz
= - ——dr — = ——dx
6 ) o 2241 6 ) o 2244

1 iz 1 1z
= 6Im{27ri-res (%ikl’l)} — glm{Qm'.res (%;22’)}

= %Re{res(%;i)—res(%;%)}
T iet? 2i b2 s el 2
3 e{i+i ! 2i+2i} 3 e{ 2 2 }
(1 1 T

= — - — — = — —1
6(6 62) 662(6 )

(b) The poles are z = —2 4 4, of which only zp = —2 + 4 lies in the upper half plane. Then by the
residuum formula,

400 . iz
sin x e
———dz =1 2mi ;=241
/_OO 22141150 m{ mes((z+2+z‘)(z+2—i) +Z>}
i(—241)
e ; T
= o — N (1 —2i=10 — T gip 9.
Im{Qm 2+i+2+i}(m{ﬂ-e } - sin
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.12 Prove that

+o0 eiaa:
/ ———dv=me "  fora>0.
oo T2

The claim is trivial for a = 0, because

+oo 1
/_Oo o dx = [Arctan x|t = 7.

If @ > 0, then the assumptions of using the residuum formula are satisfied, so

+oo etax etaz etai
/ ———dr =2mi-res | 5——;i| =2mi- —— =me "
o T4+1 z4+1 i+

Remark 5.1 If instead a < 0, then we get by a complex conjugation and an application of the first
result that

+o00 etax “+o0 e—iaz
——dr = Q—dxzﬂe—(—a)zﬂeazﬂ'e_'a‘,
feo T* 41 feo X2 F1

so we have in general that

/+oo eiam al
dr =me 1® a € R. O
oo @2 H1 ’

Example 5.13 Prove that

+oo —a
Ccos T Te
/ 5 5 dz = fora>0.
T +a a

— 00

The conditions of convergence of the improper integrals and the legality of the application of the
residuum formula are fulfilled. Then by the symmetry,

T ging
T g =0,
oo TTHa

T cosw o el , et ) _etle e
——— dv = (Re) ——— dv =2mi-res | 57— ;ia) =27 — = .
feo TP HFa o T2 +a z¢+a 2ia a

SO
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Example 5.14 Compute for a, b € Ry,

+o0 . “+oo
T sinax CoSs ax
SN =Ll =

In both cases the conditions of convergence of the improper integrals and the application of a residuum
formula are fulfilled. Hence, because a, b > 0,

(a)
+oo . +oo iax 1az
x sinax xe ze
[m 2 + b2 d m{/oo x2+b2dx} m{ me»Izlbz—i—zb}
ibe—ab
= Im{2mi- =me .
m{ i 27 } Te
(b)

+oo +oo iax iaz —ab
cos ax e e (& ™
— _— = 2 ) 1 — 2 ) - = — 70,1)'
/,oo 272 4 = (Re) /,m g = e = Sy T
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.15 Prove that the integral

T rsing
TR G
1o 1+w

is convergent, and find its value.

We have an improper integral, where the integrand is a product of sinz and a real rational function
without poles on the z-axis and with a zero of third order at co. From this we conclude that the

integral is convergent, and its value is given by the residues at the poles in the upper half plane of the
z eZZ

function ——. We have more precisely,
1424

T 4 gina . ze® 141 z el —1—|—z
der =Im< 27i |res | ——; —= | + res
P 22417 V2 A1
1+ z e —1+z z e
= 27R _ _2 R —
T {[ ( ﬁ)“e <z4+1’ \/5 T { {4}}
Vz
— 2R Z JRE 722 iz **’/TR . .
= 27 Re 1 s 1 (T3 e<iexp|i

Example 5.16 Prove that
/+°° Ccos T d 1 T . 1
——dr=mexp|———=|sin|{—-+— .
oo l+at P\ 4 2

We first note that the integrand f(x) = cosx - does not have poles on the z-axis and that the

) 1+ 24
factor ——— has a zero of order 4 at co. Since
1+ 24

T isa real rational function, we can obtain the
x

value of the integral by a residuum formula.
Now 1+ z* =0 for

z=-¢e (i{z—i— ﬁ}) €7
_Xp 4 p2 9 p )

so we get by the residuum formula,

+oo +o0 ix
cosx e
——dr =R d

/_oo Lot ™ e{/_oo Lot x}

Re (9 ei? (77) N e'® 37

= Re iqres | ——; € i— res| —— ;e T — .

i 14240 Py 1+20 P\
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All poles zy with 25 = —1 are simple, so by RULE 11,

eiz eizo Zoeizo 1 izo
res{ ——:.: 20| = —= = = ——2Zp€ .
14247 423 424 4

Finally,

exp (z %) = %(1+i) og exp (z %) = %(flJri),

hence by insertion,

[ e ) (i) (o))
_— — T N - J— 2 2 [ J— 2 2
oo LAt 4 V2 V2 V2 V2

g
&3—\
Sl

1 i L N —i L
= Re —5 e -—{(1—1—2’)6 \}5—1—(—1—&—2)6 \lﬁ}

S

T _ 1 i i A i
= Re|— e ﬁ{(eﬂfe \/5>+z<e~/§+e \/5)}]

= Re _—ﬂ 67% {22' sini—l—i QCOSL}:|—RG |:7T€\}§ {Lsini—i-i COSLH
L 2v2 V2 V2 2 2 2 2

1

_ﬁ{, 1 7r+ 1 ,ﬂ'} L <7r+ 1)
= Te sin — - cos — + cos — -sin— » = 7e sin| — 4+ — ).
V2 4 V2 4 42

ALTERNATIVELY and slightly shorter,

+oo . an .
/ —lcosx4 dx = Re {2771’ (—i) {ei% ViV + el T 6_1\}5_\}5}]
+x

—00

s _ 1 S L Y _a 1 (o L i
= Re[—.-e ﬁ{e’zezﬁ—e_’ze Z\/EH:Re{ﬂ'e ﬂ-f{el(4+ﬁ>—e i(3+% H

N 1
= me V2 gin + — .
( \/§>

S
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.17 Prove that the improper integral
+ i ( + 7T)
oo sin (x4 —
/ 4
oo (@7 +1) (2 +4)

is convergent. Then find the value of the integral.

Since
. ( Jr7T> 1 (si " )
sin(z+ —) = — (sinx + cosx),
4 V2

1
and since — is a real and even rational function with a zero of order 4 at oo and with
(x241) (22 +4)
no pole on the z-axis, the improper integral is convergent, and we can find its value by a residuum
formula, where we use that the integral of an odd function over a symmetric interval is 0,

T
+oo  Sin (w + —) 1 +oo . +oo
/ ; 24 do — {/ i 3111332 i +/ i cos a:2 dx}
e @ +1><x DT R @@ T, @D
+oo 1 oo (11 11
_ / ST (Re) / P S de
\/_ (2 41) (22 +4) \/5 oo 3 2241 3 2244
27i { ( e’ ) ( e’ ) } 27i {e‘l e ? } (2e — 1)m
= —=qres| ———;i) —res| 5——; 2 = =
32 2241 2244 32 2 44 612 - €2
ALTERNATIVELY we may carry through the following computations,

+oo  sin ( +oo exp m + ))
/ do =Tm / S
:L‘2 + 4)

e (1) (22 +19) (22 +1) (22 4+ 4)

g ) z(z+ ei(er%) o
= Im < 27 |res —(z 1) (22+4) + res —<22+1) (22+4), 7 .

It follows from

ci(z+%) ez‘(z+g) i) -1
res| —5——5—<;i| =lim = =—— .¢'%

(22+41) (2244)

and
6i(z+§) N ; ei(z+g) 6i(2i+g) —e2 o
B — = = = . 4
A\ 210 ) T (2 ) (2 +2i) | —3-4i 120 C
that

[l ()
Im{ﬂ~(261) . 1+i} _ (2e — )7
62 e2
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Example 5.18 Given the function

2

1@ =g

1) Find the singular points and their types in C U {oo} for f(z).

2) Find the value of the following two complex line integrals,

@ § SOk ® s

3) Prove for every w > 0 that

oo g2 T
/ 1 e“tdt = — e ¥ (cosw — sinw).
1114 2

1) Clearly, z = oo is a removable singularity (a zero of second order).
The denominator z* + 4 has the zeros

1+d,  —1+4id,  —1-—4, 1—i
These are all simple pole of f(z).

2) a) Since there is no pole of f(z) inside the circle |z —4| = 2 (cf. the figure), it follows from Cauchy’s
integral theorem that

?42—4|=2 f(z)dz=0.

b) All singularities of f(z) lie inside the circle |z| = 2, and z = oo is a zero of second order. Hence,
by reversing the direction of the curve,

le2 f(z)dz = —j( f(z)dz = —2mi - res(f;00) = 0.

z|=2

87
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

ALTERNATIVELY, the residuum in a general pole zg, for which 2§ = —4, is given by

S O T A
A+a’ ) T a8 T 4z

SO

: 22 1 1 1 1
dz = 2mi T %n ) =2mi ‘ . . ‘
jl{z|=2f(z) z m;res<24+4,z> W2{1+z+—1+z+—1—z+l—z}

1 1 1 1
= 2mi — — =0.
m{l—i—i 1—i 1—|—i+1—i}
3) Since the integrand has a zero of order 2 at oo, and since there are no real singularities, the

improper integral exists, and when w > 0 its value can be found by the residues in the upper half
plane,

+oo 42 2 2
/Jroo T ewtdt = 2mi {res (m e 1 +i> + res <m e —1 +z)}

o i 22etwz i S2piwz 2w eiw(1+i) 6iw(—1+i)
- m{ziﬂi 13 T4 }_T{ Tri © —1—|—i}

m 1—1 —w iw 1+1 —w , —iw i —w 1 iw . iw —iw . —iw
= 5{ D) e e —T'e e }:?e 5{6 — 1€ — € —11€ }
T . . eiw _ e—iw ) ) eiw + e—iw T _, ]
= ge -z{ % = 5 }256 - (cosw — sinw).
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.19 (a) Given m > 0. Prove that the improper integral

+oo 2 _imx
xr-e
(3) /

"
L T 622125

is convergent, and find its value.

(b) What is the value of the improper integral (3), when m < 0 instead?

2
T
a) Clearly, —————
(2) V2 + 622 + 25
Hence, the improper integral is convergent, even for every m € R, and when m > 0 we can find
the value by a residuum formula. When the denominator is put equal to zero,

has a zero of order 2 at co, and the denominator is > 25 for every = € R.

24622425 = (2245)° = (22)2 =0
we get

22 =-34+V9—-25=-3+4i=(+1+2i)?
so we have four simple poles,

1+ 24, —1 4+ 24, 1 — 24, —1 — 24,

of which only the former two lie in the upper half plane. Hence, for m > 0,

+oo 2 jimx 2 imz 2 imz
xr-e z7e z e
——————dx = 2mi ——, 1+ 2 ———, -1+ %
/_Oo 6?25 m{res<z4+6z2+25’ - Z>+res<,7««4+6z2+25’ " Z>}

2 . 1 22€imz " 1 ZQGimZ 27TZ z mz N 1 ZGimZ
=2m im —— im _ 4m im -

2—142i 423 + 122 2——1+2i 423 + 122 4 \eioiteiz2+3  oTihei2 43
i { (1 + Qi)eim(1+2i) (,1 + Qi)eim(71+2i) }

2 | 1—-4+4i+3 1—4—4i+3

_ % {(1 + 2,L~)eim . e—2m _ (_1 4 27;)e—im . e—2m} _ %6—2711 {(eim + e—im) 42 (eim _ e—im)}
g e 2™ {2 cosm + 2i - 2i sinm} = % e 2™ {cosm — 2 sinm},

which is also true for m = 0, where

/+°° 22 ™
Y =T
oo T+ 622+ 25 4

(b) If m < 0, then we get by complex conjugation,

+oo 2 imx +oo 2 ilm|z
xr-e xrx-e T
—  dx = " dr=.e2ml s — 94 ,
/oo 2t 622+ 25 /oo T ir e teosml =2 sinfml}

where we have used the result from (a) with |m/| instead of m.

Summing up we have for every m € R,

[ 1< {eos m| — 2 sinfm]}
—— —dx = — - e “"" {cos |m| — 2 sin |m|}.
o T+ 622425 4
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Example 5.20 Find the Fourier transform of the function

r+1

f@) = 5o

i.e. compute
+oo
2 z+1
= e — |
o= [ e

first for € <0, and then for £ > 0.

We see that

P(z) z+1 z+1

f(z):Q(z) T 2+1+2242 (z+1)2+1

is a rational function, where

1) the polynomial Q(z) = (z + 1)2 + 1 of the denominator has the simple zeros z = —1 4 i, where
none of these is lying on the real axis;

2) the polynomial of the denominator is of 1 degree bigger than the polynomial of the numerator;
3) if £ <0, then m = —£ > 0.

Hence, the conditions of convergence of the improper integral are satisfied for £ < 0, and since —1 +4
is the only (simple) pole in the upper half plane, the value of the improper integral is given by a
residuum formula,

+oo
A r+1 ) z+1 )
— e I ) v L e#E. {4y
7 [m m2+2x+26 r = 2mi 1"es<(z_~_1)2+1 e ; +z)
- omi i s+l e8% = i e 81 = L (£ £<0,

|
o4 2(z + 1)
where we have applied RULE I1.

Now P(z) and Q(z) have real coeflicients, so if £ > 0, then we get by complex conjugation,

+oo +oo
: z+1 4 c+1 — ,
— —i€ — i€x — S o— z__'.g(_l'f‘)
f(g)_/ 22w t2 qu;_/ syl dr i e = i ST

— 00 — 00

Summing up,

i - e84 = i . = 1€1(049) for £ <0,

f&) =

—qi - S — . e l€1(1—i) for € > 0.

When ¢ = 0, the integral does not converge.
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Remark 5.2 For £ < 0 we have

f(&) = mie 810+ — 7 eIEl . {cos |¢] — i sin €]} = we € {sin €] + i cos [¢]},

so by a complex conjugation when £ > 0 we get all things considered,

me I8 {sin|¢| + i cos €]}, for £ <0,
f(&) = 0
me 1€ {sin [¢] — i cos|¢]}, for £ > 0.

In a VARIANT we may use the change of variable ¢t = x 4+ 1. Then we have the following calculation
for £ < 0:

+o0 +oo too
2 x+1 _ie t it (h— ; t —
_ WEx g0 — W& (t 1)dt: zf/ zftdt
1 /_Oo 22 +2° ‘ ./_oo 2+1° ) v

27 - €' - res ( e %7, L) = 2mi - e {2— . 6’152] =i - e . ef = i (1T,
z z=1

22 +1

~
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

ALTERNATIVELY we may use for £ > 0 another residuum formula, because the conditions of its use
are still valid. We get

R +oo 1 ] 1 '
& = / _THL i gy = o ves <L e i -1 z)

oo X222 +1 224+22+42
z+1 ; 1 .
— . : i€z \ _ : : - i€z
2mi z—1>1—nll—i { 2z +2 c } 2mi z—1>11111—i { 2 c }
= —mie ®T17) = _pjef(=140),

Example 5.21 Given the function f by

= eiz

f(2)1m~

1) Find the singularities and their type of f in C U {oo}.

2) Compute the complex line integral

f(2)dz,

Cr

where Cr denotes the simple closed curve, which consists of
the half circle z= Re”®, 0<60<m, R>1,
and

the interval [—R, R] on the real axis.

3) Prove that the improper integral

T gosing
[,
o (z241)

s convergent, and compute its value.

1) Clearly, z = +i are double poles. Furthermore, co is an essential singularity. In fact, we have
f(=iy) = 400 for y — +oo,
and also
f(x)—0 for x — 400,

so we can obtain at least two different limit values for z — oo.

92
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

2) We have only the singularity z = i lying inside C'g, so we get by a residuum formula,

ze'® d z e
z)dz = 2mi-res| —— ;i | =2m¢ lim — < ——
ch() ((22+1)2 ) H‘dz{(zHF}
ori li et n ize'” 2z e?*
= 11m - =
TN Gr)? T iz (zrip

— omi et _ et _2ie_1 _7T_z'
N (20)2  (20)2 (203 f 2’

3) Since we have a zero of order 3 at infinity, we get by taking the limit R — 400 that

+oo ;
/ &nzdx:hn{ lim f(z)dz}zl.

o (5624-1) R—+oo Jo, 2e

Since the integrand is even, we finally get

T gosing T
ALY
o (22+1) de
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Complex Funktions Examples c-7 Improper integrals, where the integrand is a rational function times ...

Example 5.22 Given the function

z elZ

f(z) = _(22 n 1)2'

1) Find the singular points and their types of f in C.

2) Let x1, x2, Y1 denote any positive real numbers where y1 > 1, and let v = 7y, 4,4, denote the
closed curve (run through in the positive sense), which surrounds the domain

Ap ooy ={2€C| =21 < Re(z) < 2 and 0 < Im(z) < y1}.

Prove that

3) Prove that the improper integral

+oo ;
/ T smx2 e
o (z241)

is convergent and find its value.

1) The denominator has the two double zeros 7i, and since the numerator is # 0 in these points, we
conclude that +i are double poles.

2) We see that +i is the only singularity inside v, hence it follows by the residuum theorem that

. ze'® . .o d z e’
éf(z)dz = 2mires (m;z> :QWZLLnli% (m)

o i e* n iz et 2z t#
i lim —
v [ N PR (I PR PR

_ oogmietd L # % 2w 1w
N (20)2 © (20)2 (20)3) e 4 2

3) It follows from

T

m ~ W for |.CL'| large,

that the improper integral is convergent.

When we apply the parametric description z(t) = —x1 +it, 0 < t < y1, for one part of v we here
get the estimate of the integrand,

z ‘ e’ 1] —t

2 2 = 2
P ()

z eZZ

6= |

)
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and the line integral along this part of + fulfils the estimate

Y1
f(=x1 +it) idt‘ < 1] 5 — 0 for 1 — +oo.
° ja1* = 1)
Analogously we get
v1 N |2
flza+iat) idt| < -0 for 29 — +00.
0

(1)

Finally, we get for the curvilinear part by choosing the parametric description z(t) = t + iy,
t € [—x1,x2] | that

z(t)]
(2(8)2 +1)°

e_yl

If () =

)

so the corresponding line integral is estimated by

< constant - e” Y — 0 for y; — +o0.

‘ b f(z)dz

z1

Then by taking the limits 1 — +o00 and x5 — +00 and y; — +00,

“+o0 xeiz T
/ — dr =1 —.
oo (22 +1) 2e

We conclude from

/+°° x et de/+°° xcosx2 dz+i/+oo acsinx2 dr = 2 /+°° :Usinx2 dr.
—oo (2241) —o (22 41) —o (22 41) 0 (2 +1)

that

/+°° T sinx T
IR =
o (z2+1) de
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Example 5.23 Given the function
2 eiz
flz) = ———.
(2) (22 4 4)?
Denote by I'y = 7, + C;r the simple closed curve run through in the positive direction, consisting of
Yo, the line segment [—p, +o| on the real axis and the half circle C; in the upper half plane of centrum
0 and radius o.

1) Find the isolated singularities and their types of f in C.
2) Prove for o > 2 that

.
yif(z)dz:z@.
3) Prove that

(2)dz — 0 as o — +oo.
cs

4) Compute the improper integrals

oo peiw T rsina
p.. ——dx 0g —— dx.
—oo (22 44) o (22+4)

-2

Figure 11: The closed path of integration C, and the two singularities +2.

1) The function f(z) has the two double poles +2i.
2) When p > 2, only the double pole 2 lies inside I',. Hence by Cauchy’s residuum theorem,

) ze? ) o1 .. d zel?
3 f(z)dz = 2mires (m ; 22) = 2mi - T zlLHZIzE {m}
et® n izet? 2z et
(z+2i)2 (24202  (2+2i)3

_ o e_2+i~2i~6_2 4i - e=2 _2mi 1+1+1 .
T\ @2 T T @i @3 [~ e | 16 8 16 e

= 2w lim {

z—21
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3) A parametric description of C;‘ may be chosen as z(t)oe', t € [0,7], so we get the following
estimate when p > 2,

/C+ f(z)dz

4

" olexp(ip{cost + i sint})] 0?

< - dtzi/ exp(—p-sint)dt
/0 (varrho? — 4) ¢ (02 —4)%Jo p(-e )

7'('Q2

(02 —4)°

—0 for o — +o0.

4) Both the improper integrals are trivially absolutely convergent, so it is not necessary to write
“p.v.” (= “principal value”) here.
It follows by a residuum formula, where we use the limits above,

o0 i iz
/ T e = lim ?{ L P .
o (@24 4)7 i), (224 4) e

and then by a reflection argument,

T gosing 1 (T zsinz 1 T geln
———dr = - ———dr=-Im ——dx
o (22+4) 2) w (z244) 2 oo (22 +4)

_ llm{z’ l}_i
) 4e2 S 8e2”
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Complex Funktions Examples c-7 Improper integrals,, where the integrand is a rational function times ...

6 Improper integrals, where the integrand is a rational func-
tion times an exponential function

Example 6.1 Given a €0, 1], prove that

+oo azx +oo h
(a) / e do — s ®) / cosh ax do — wﬁa.

T 3 ’
o €¥+1 sinma oo Coshz cos -

az

HINT: Integrate the function

1 along a rectangle with the corners —R, R, R+ 2mi and —R+ 271,

eZ

and then let R — +o00. The integral of (b) is found analogously, but it can also be derived from (a).

Figure 12: The curve Cs,; and the simple pole 7 inside Cy;.

(a) Since e* +1 =0 for z = wi + 2wi, p € Z, it follows that zo = 7 is the only singularity inside Cg
for R > 0, and this singularity is clearly a simple pole. Then we get by the residuum theorem,

eU.Z e(lZ e(lZ 1 X .
dz =2mi-res | ——; wi | =27 lim =2mi - — - e = 2 e,
Cr ez +1 ez +1 z—Ti €7 -1

On the other hand,

0% J R 0T p 2 ea(R+iy) y ) -R ea(w+2ﬂ'i) p 0 ea(—R-l—iy) .
%CR 1T /—R e+ 1 er/o vy 1" y+Z/R 2T 4] H/zw e~ 1Y

Using that 0 < a < 1, it follows by some trivial estimates (though with a different argument) that
the second and the fourth integral tend to 0 for R — +o00. Furthermore, by some trivial estimates,
each of the two remaining integrals converges for R — +o00, and we have

R ) Pl +oo 4 - +oo et
—2mie = lim dz = dr —e dx
R—+oo Jo, €% +1 oo €1 Co €1
+oo azr
) e

— 1— 2ami d .

- [
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Finally, by a rearrangement,

e:c+1 $_62a7ri71

/ Foo  gaw 2mi e™ T ™
— o0 _ (eaﬂ'i _ efmri) Smma
21

(b) It follows from

1 1-
23:) exp < 5 a4 Qx)

coshar e e 9  elathz 4 gllmajz P ( 2

coshz =~ e +e ™ e 41 - e2r 41 + e2r 41 ’
and
1 1—
0<t% 1 and 0<%,
and (a) that
o0 cosh ax 1 [T eslatl)t 1 [T ez(l-a)t 1 T 1 s
/ dv = _/ 7dt+_/ — T dt=5 = TNt 5 s
oo Coshz 2/ o et+1 2 )_o e +1 2 sin (% 7T) 2 sin (Ta 7T)
T 1 n 1 oo 1 n 1 _ ™
2 | sin (% + %) sin (% - %) 2| cos % cos (—%T) cos %a
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Complex Funktions Examples c-7 Improper integrals,, where the integrand is a rational function times ...

Example 6.2 Prove that
+o00 1 2 3
[Ty, 2

0

by using the path of integration sketched on the figure ant then let R — 400 and 6 — 0+.

I

05 1 15

Figure 13: The curve Cﬂ% and the simple pole i.

Let Log*z denote the branch of the logarithm, which is given by

T 3T
Im{Log" -, —

i.e. we choose the branch of the logarithm, for which the branch cut lies along the negative imaginary
axis. Then

(Log*z)*

1(z) = 1422

is analytic in the open upper half plane with the exception of the simple pole z = 7. Therefore, if
R >1and 6 <1, and we denote the curve by Cg s, then

* \2 *_\2 * 2 3
% (Log™2)” o omives | (L0872 ;) Loy ogTd) (zf) S
CR,6 1 +22 1 +22

1+
which in particular shows that the value of the line integral is independent of R > 1 and 0 < 1.

The curve Cg s is composed of the interval [0, R], the circular arc Cg, the interval [-R, —d] and the

circular arc Cs (with obvious notations). If we put t = —x, then we get on the interval [—d, —R],
/5 (Log*z)? g /5 In |z| + im)? dx = /R (Int + im)? u
R 14 a2 R 1+ 22 5 1+¢2

R 2 R R
(Int) / Int 2/ 1
dt + 2 dt — —dt.
/5 el N e A e
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On the circular arc Cr we put z = Re®, 6 € [0, 7], and then
|Log*z|* = |In R +if> = (In R)? + 6°.

We get the following estimate

L * _\2
/ (Log 22) dz
Cr ].+Z

Analogously we get the following estimate of the circular arc Cs,

(In R)? + 72
R? -1

< TR — 0 for R — +o0.

*_\2 2 2
/ (Log 22) dz S(ln&) —ZW -6 — 0 for 6 — 0+,
because
1\2
(ln5)2~5:f—>0 forg—>—|—oo, ie for 0—0+.
5
Summing up we have for R > 1 and 0 < § < 1,
3 L *_\2
" f (Log™2)” 4,
4 Cr.s 1+Z

R (Inx)? R (Int)? o Int
= d dt + 2mi —dt
/5 1+ 22 x+/5 et m/5 1+12
R *_\2 *_\2
1 L L
_ﬁ/ 2ﬁ+/ﬁjggw+/ﬁjggw
E) 1+t Cr 1+Z Cs 1+Z
R 2 R *_\2
(Inz) 9 dt (Log*z2)
= 2/ 1+x2dm—7r —1+t2+ T2 dz
5 13 Cr

Log*z)” B Int
+/ dem/ LI
Cs 1+Z 5 1+t

Then by a rearrangement,

B (Inx)? R Int Boa w2 (Log*z)” Log*z)
— 9 _ 2 g = (Log"z)
2/ 1+x2dx_2”/ 1+t2dt_”/ 1+ 4 _/ 1+ 22 d’z—/ 112 %

5 5 5 Cr Cs

Here the left hand side is separated in its real and imaginary part.
This equation now holds for every R > 1 and § €]0,1[. The right hand side has a limit value for
R — +00 and § — 0+, independent of each other,

3
™
hence the limit value of the left hand side must also exist, and it is equal to T Hence by separating

into the real and the imaginary part we get

o0 1 2 3 o0 1
/ (Inz) dmzw— og / idac:O.
0 1+l’2 8 0
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Example 6.3 (a) Given the function

F(2) 1 tanhy/z 1 sinhy/z 1
Z)=—. V7 _ . . .

z N z Vz  coshy/z
Prove that F(z) is an analytic function in a domain

Q=C\{z, | neNg},

independent of the choice of the branch of the square root.
(b) Find the poles {z, | n € No} of F(z), as well as their orders.

(c) Let Cp,, p € N, denote the simple, closed curve in the z-plane, which is composed of the line
segment

z=1+it, |t <+pirt—1,
and the circular arc
T,: |z =p?n?, Re(z) <1
Find for every fized t > 0 the value of the line integral

1 1 #t tanh
— e F(2)dz = — e tanh vz dz
2mi Je, 2mi Jo, 2 Vz

(d) Given that
| tanhw| < 2 forw=pre?, 0eR, peN,

prove that for every fixed t > 0,

zt
lim

p—+o0 r, Z\/_

(e) Using that F(z) has an inverse Laplace transform given by

tanh/zdz = 0.

1 1+i 00 1 +o0 )
(0= 5m [ F@a = o [ i as, 120
1 —00

21 )1 i s 27

where the integral is convergent, find f(t) expressed by a series and prove that this series is con-
vergent for every t > 0.

(a) We use that (v/z)” = z, no matter the choice of the branch of the square root. Then by some
series expansions,

RIS | -
cosh\/zzg)w(\/—) :7;)(271)!2

2n+1 1 = n 1 n
vz V2 (2n+1) (V2) 72(2n+1) Vi Z (2n+1)!
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Figure 14: The path of integration C), for p = 1.

so we have indeed defined a analytic function, which is independent of the choice of the branch of
the square root. Notice in particular that

. . sinh/z
(4) lim coshy/z=1  and lim NG 1.

We therefore conclude that

_ 1tanhy/z 1 sinhy/z 1
2z Jz  z Jz coshyz

is analytic in a domain €, which does not contain z = 0 or the zeros of cosh y/z.

F(z)

(b) The zeros of cosh y/z are found in the following way,
T
\&—2(54'177()7 p€Z7
thus

2
z:—<g—|—p7r), pE L.

Then note that p and —p — 1, p € Ny give the same z, so we can now replace Z by Ny

When p is replaced by p — 1, then the singularities become
2 7

eN.
4 p

20 =10 and zp=—(2p—1)

Then we determine the order of z,, p € Ny. Since

1 1 sinh /2
z coshy/z  z

we conclude from (4) that zp = 0 is a simple pole.

F(z)=
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When

5T
ZP:_(Qp_l) Ia peNa

we get

sinh \/%
zp\/_

and since

og cosh /z, = 0,

d sinh
Jim G cosh 3= Jim sinh v 57 = S

we conclude that every z, is a simple pole.

2
1
(c) Using that z, = — (p — 5) 72, it follows from Cauchy’s residuum theorem that

1 » 1 et tanh\/_ u
—_— F d = —_— —_— e y
ami f, CTO =500, Z_ e )5 %)
because only zg, 21, ..., 2, lie inside C).
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Complex Funktions Examples c-7 Improper integrals,, where the integrand is a rational function times ...

Then by RULE 1A,

R ) gt SVE L
res (e F(z),zo)—;g%e i cohvE i ,

where we again have used (4).

In the computation of
res (e” F(2); z,) n €N,

we shall use RULE II, because z, is a simple pole. We put
Az) = e sinh/z

2 Vz

and get by RULE IT,

and  B(z) = cosh/z,

Az, #t ginh 1 2e*t 2
res (¢*' F(2); z) = ,(Z) = lim {6—-Sm \/E} 7 = lim =S
B (Zn) Z—2Zn z \/E sinh \/E . z2—2Zn Z Zn
2Vz
hence by insertion,
1 E "2
— et F(2)dz = Z res (e” F(z); 2,) = 1+ Z — et
2w Cp n=0 n=1""
8 <& 1 1?
= 1-=Y — —An—=% 7).
(5) 71_2;::1(271_1)2 exp( {n 2} T )

(d) If z € T, then |z| = p?x? and |/z| = pr. According to the given formula,
(6) |tanh/z| <2 for |z| = p*n?.

We have on I'), that Re(z) < 1 and |z| = p?72, so we get by (6) for every fixed ¢ > 0 the following

estimate,
ezt ezt et-l 9 o
tanhvzdz| < ma -tanh z| - ¢ (')) < -2-2
\/r‘pZ\/g \/_ ZEF):Z\/E \/_ (p)—p37_r3 pT T
4 t
- 2% 0 for p — o0,
p
thus
ezt
(7) lim tanh v/z dz = 0.
pﬁfﬁloo Fi” Z\/E

(e) We conclude from (5) that

1 1 1+i\/p4ﬂ'471 1
— et F(2)dz = — e F(2)dz + — e*' F(2)dz
2mi Je, 270 )y i1 2mi Jr,

8 & 1 1?
=1—- — — — — 2
7r2z(2n—1)2 exp< {n 2} 7rt>,

n=1
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hence by a rearrangement,

1 14+iq/pirt—1 ] P 1 1 2 1
— e“F(z)dz:l——Z—exp —p—= Tt ——_/ e F(2)dz.
2T J1 iy /pimi1 72 £~ (2n—1)? 2 2mi Jp,
Then by (7) by taking the limit p — +o00, p € N,
1 [ifiee 8 =X 1 1)°
8 t) = — E(2)dz=1—- — D —— — — = 2t .
(8) f):=5; e F(2)dz 72;(271—1)2 oxp {” 2} T

1—io00

Clearly,

112
exp({ni} 7r2t>§1 fort >0 and n € N,

so we have the estimate
—— exp| —<n—=, 7
2n—1)2 °FP 2

T4 (2n-12 087

and the series is absolutely and uniformly convergent for ¢ > 0.

n=1

Remark 6.1 This example is a simplified version of a problem connected with oil drilling in the
North Sea. One wanted to find the inverse Laplace transform of

F(Z;)‘aw) = é W?

where

(p(Z) = (,O(Z;)\,W) =Z= ﬁv

and where A and w are two positive parameters, which are fixed by some practical measurements. The
principles for solving this original problem are the same as the simplified example presented here, but
one must admit that the computations are far more difficult that in this special case, where ¢(z) = z.

¢

Remark 6.2 All though it is not required we shall here also prove (5), i.e.
(9) |tanhw| <2 forw=pr-e?’ HcR, peN.

We first introduce for p € N a real auxiliary function 1, by

(10) 9,(#) = cosh(2pm - cos 8) + cos(2pm - sin6), 0 eR.

Then we prove that

1
(11) cos(2pm -sinf) >0 for Arcsin (1 - %) <10] <

B
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Since cos(—u) = cosu, we may assume in (11) that

. 1 T
0 € {Arcsm <1 — @) ,5} .

Since sin @ is increasing in this interval, we get

1
2pm sinf € |2pm (1 — — |, 2pm| = [2_7)77— z, 2p7r] ,
4p 2
and since cosu > 0, when u = 2p7 sinf € [2])71’ — g , 2p7r], we have proved (11).

Then we prove that

1
(12) cosh(2pm cosf) > cosh (% \/8p — 1) for 0] € [O, Arcsin (1 — %ﬂ .

1
We may again assume that 6 € [0, Arcsin (1 — 4—”, and using that cos@ is decreasing in this
D

interval, it follows that
. 1 . 9 . 1
cos | Arcsin (1 — — = +4/1 —sin® | Arcsin [ 1 — —
4p 4p
2
Y U TR D O I I T 4
4p 2p  16p? 4p

and since cosh is increasing in R, we get

V8p—1
cos(27m cos ) > cosh <2p7r : 85—) = cosh (g 8p — 1) .
p

Y

cos 0

Now,
Yp(8 + 1) = cosh(—2pm cos ) + cos(—2pm sin @) = ¢, (6),
and

cosh (% \/Sp—l) >2 for alle p € N,

so we conclude in general by (11) and (12) that

cosh0+0=1,
¥p(8) = cosh(2pm cos B) + cos(2pm sinh) >

cosh (g V=1 1) S1>1,

where at least one of the two estimates holds for any 6.
Summing up we have proved that

(13) %, (0) = cosh(2prm cosf) + cos(2pm sinf) > 1.

107
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Improper integrals,, where the integrand is a rational function times ...

Then we use the definitions of the hyperbolic function of a complex variable,

|sinhw|?>  cosh®u — cos?v cos? v — sin® v
|tanhw|? = = =1-
w2 2 2 12 T, 1 o2
cosh w cosh” u — sin“ v cosh®u — 5 + 5 —sin“ v
2 cos2v 2 cos2v

S D
(2 cosh? —1) 4+ (1 — 2 sin®v) cosh 2u + cos 2v

Then put
w=pre? =prcosh +iprsinb = u+iv,
and apply (13) to get

2 cos(2pm sin 6) - 2

h i0V12 _ 1 _
|tanh (pme) | cosh(2pm cos @) + cos(2prm sinf) — Pp(0) T 7

thus
|tanh (pme'®)| < V3 (<2),

and we have proved (9) with the even smaller constant v/3. ¢

In the past four years we have drilled

89,000 km

That's more than twice around the world.

Who are we?

We are the world’s largest oilfield services company.

Working globally—often in remote and challenging locations—
we invent, design, engineer, and apply technology to help our
customers find and produce oil and gas safely.

Who are we looking for?

Every year, we need thousands of graduates to begin
dynamic careers in the following domains:

‘ ‘ m Geoscience and Petrotechnical

m Commercial and Business

What will you be?

a1 careers.slb.com Schiumberger
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Example 6.4 Compute

/*“’;ex x+3i "
oo T2H9 Plaz T '

3
It follows from Z2++ ; =5 that this function can be extended analytically to —3i, so we get the
z z—3i

estimate

z+ 31 1 4

= < — f >4

49| T pom S k=4

hence

z+ 3 1 4
— )< — | < — | < f > 4.
()| 2o () <o () = ol

Then we estimate the integrand by

1 z+ 3 k
_ ) < —= f > 4.
2249 exp<z2+9> ~ |22 or |2 2
The singularities are z = +3i, where none of them lies on the real axis. We conclude that the improper
integral is convergent and that its value can be found by a residuum formula,

/+<>0 ! e T3 dr = 2mwires ! [S ! 3t
——— ex =27 X ; .
e 2249 P 29 219 P\ T3 )

The idea here is that the sum of the residues is 0. Since oo is a zero of second order, we have

1 1
res (,22—4—9 exp (m) ,OO) =0.

Now z = —3i is a simple pole, so

(L. 1 . L 1 i (i
res | —— ex ;=3 ) =—expl——=)==-exp|=].
249 P\ ) 6 TP\ 76 ) T6 P \s

The sum of the residues is zero, so it follows from the above that

N LY ; i
res | —— ex ; =——exp|=].
S\ 210 P\ 223 ) 6 PG

Finally, by insertion
/+°° 1 T3 [ i ™ i
——— ex x=2miq—=exp| = =—exp|=].
219 TP\ 6 “P\G 3 “P\6
Remark 6.3 We notice by separating the real and the imaginary part that it follows from this that
/+°° 1 z 3 Ve ™ cost
ex cos T = — COS =
e 249 P\az g 2249 3 6’

/+Oo —1 e x sin 3 dz T sin ! O
X =3 P
219 TP\ 22+ 9 376

109
Download free eBooks at bookboon.com



Complex Funktions Examples c-7 Improper integrals,, where the integrand is a rational function times ...

ALTERNATIVELY one may compute the residuum at z = 3¢ directly.
We get by the change of variable w = z — 3¢ that

1 1 ) 1 1
res (m exp (Z — 32) ,31) = res (m exp (E) ,0) .

Here wy = 0 is an essential singularity, so we must find the Laurent series expansion and find the

coefficient a_; of . When 0 < |w| < 6, then
+oo +oo
1 1 1 1]1 w\P 11
- i _ 2 AN (2 e O
w(w + 6i) P (w) w 6i w Z nlw'  w {61’ z;()( ) (61) nZ:On! w”}

It follows immediately that a_; is the constant term inside the parenthesis, so a_1 is found by putting
p = n, thus

“+o00 . .
1 1 1 11 1 1 i i
- 23 ) = = —_1)". L= ) == Z
res <z2+9 P <z3z> Z) 6i z::( N T eXp( 6i> 6 P (6)

and we get as previously that

/-HX);eX 3 dm—EeX f _T cosl—l—isinl
2219 TP\ 9) TP 6) T3 16 6/

American online
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Example 6.5 Given the function

eiz e* + e F
= , h hz = ——
f(z) p— where cosh z 5

Define for every R > 0 the den simple closed curve
Tr=Tkp+T% +T% +T%

which is the sides of the rectangle shown on the figure.

Figure 15: The curve ' is composed of the four straight line segments: 'L, = [~R, R] on the a-
axis, '3 = R + i[0, 7], parallel with the y-axis, ' = [~R, R] + 7 parallel with the z-axis, and
I'h = —R +i[0, 7] parallel with the y-axis, and with the given sense of direction.

1) Find all isolated singularities of f in C.
Determine for each of them its type and its residuum.

2) Prove that

f(2)dz =27 exp (—g) .

I'r

3) Prove that the line integrals along I'% and I'} tend to 0 for R — +oc.
HINT: One may use that

| cosh(z + iy)| = \/sinh? z + cos? y.

4) Prove that the improper integral

T cosx
dx
o coshx

s convergent, and find its value.
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1) The numerator and the denominator are both analytic in all of C, and the numerator is # 0
everywhere, so the singularities are given by the zeros of the denominator cosh z, i.e.

m
zp:i{§+p7r}, p € Z.

It follows from

d .

e cosh z,, = sinh 2z, # 0, for alle p € Z,
that they are all simple pole of f(z).

Finally,

(1 i {Zer)) [}M

sinh z R

= (=) liexp (*{%erﬂ}), peZ.

2) For every R > 0 the curve I'g surrounds only the singularity zo =i

o 3

Then we use the residuum theorem,
f(z)dz = 27i - res (f, 1 I) =27 - exp (_f) )
g 2 2

3) The vertical line segment I'% (possibly I'},) has e.g. the parametric description
2(t) = R+ it, t €0, 7],
so we obtain the estimate
T gi(Rit) ™ ot
(2)dz /0 m~idt‘</o mdt

%
From
| cosh(R + it)] = V/sinh® R + cos?t > |sinh R|,

we get the estimate

i 1 T
dz| < dt = 0 forR .
f(z)dz */0 sinh R] [smhR| or [t = +00

2
1—‘R

We have only assumed in the argument above that R € R, so we also have

f(2)dz| < —

— — 0 for R .
~ |sinh R| - or it oo

Ik
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1
4) Now coshz > 1+ 3 22, s0 it follows from the estimate

+oo b +oo C
‘/ a cosx + smscdz‘ S/ dz < oo,

cosh x 1+ % 2

— 00

that the improper integral is convergent.

When we return to the complex problem, then we get by the symmetry that

f(z)dz/R e dm/R Cosx+isinxd$/R Ccos ¥ d,
Tk

_pcoshz _R coshz _pcoshz

and analogously,
R

—R i(z+im) R P
f(z)dz:/ e . dx:+e*”/ cosx + 1 sinx dx:e*’r/ cos dr,

+r cosh(z 4+ im) _R cosh _p coshz

I

) over a symmetric interval [—R, R] is
coshz

because an integration of an odd function (her

always 0.

Then we get by taking the limit R — +oo in (2),

R +o00
27 exp (_f) — lm / cosw . _ (147 / cosT
2 R—+oo J_p coshzx oo CoOshx

cosx i .
SO being even, we get by a reflection argument that
coshz
0 T
/+oo COS T p 1 /+oo COS T ; 2m exp (—5) . 1 T exp (—5)
T = - x = =— = .
o coshz 2 J_o coshz 2(1+e ) 2 cosh (Z) l4+e ™
2
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7 Cauchy’s principal value

Example 7.1 Compute the (important) improper integral
+oo o
/ sin x da.
0 x

It is not possible directly to apply the analytic function

sin z

in the various solution formulae, because

z

it does not fulfil any of the inequalities required for the legality of some relevant residuum formula.
Another problem is that we here only shall integrate along the positive real axis, i.e. not a “closed
curve” in C*, and we cannot talk of a domain which is surrounded by the path of integration.

Instead we shall rewrite the integrand by means of Euler’s formulz. In order to avoid the singularity
at the point 0 we shall integrate over an interval of the form [e, R]. Then we get

R R iz —iz R -R ix —€ R i
/ szdx:i, e ¢ dx:i, / —/ 6—da::l, / +/ ¢ da.
- 2i ). x x 2i | J. e x 2i | J_gr - z

If the right hand side has a limit value for ¢ — 04 and R — +o0, then the limit of the left hand side
does also exist, and we have

oo 3 +oo iz
sin x 1 e
/ dr = — vp./ —dz.
0 T 24 oo X

sssssssssssssvsssssassssssssssssssssnssssssssssnnsssssssssssssssssssssssfilcgte]-Lucent @
www.alcatel-lucent.com/careers

2%

One generation’s transformation is the next’s status quo.

In the near future, people may soon think it's strange that
devices ever had to be “plugged in.” To obtain that status, there
needs to be “The Shift".

N
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Complex Funktions Examples c-7 Cauchy’s principal value

1 .
The analytic function — e** has only the simple pole at z = 0, and this lies on the real axis, so it will

z
contribute to Cauchy’s principal value with the amount

eiz
mires | — ; 0 ) = me.
z

1 . 1 . 1
Since we have the structure — e¢'* = = "% of the integrand, where m = 1 > 0 and — has a zero of first

z z z

order at co, taking the limit R — +oo will not cause any problem, and we have checked the conditions
for the application of the residuum formula for Cauchy’s principal value. Finally, the integrand does
not have any other singularity that z = 0, so we conclude that

/+°° sinz d 1 /+°° et d 1 LT
r = — Vp. —dr=— mi=—.
- 2 > ) 2 2

Example 7.2 Compute

?{ dz
vp. — =
P s 222 4322

Figure 16: The circle |z| = 2 with the evasive circular arc I'; around the point —2, and the singularity

1
3 inside the curve.

We first note that the denominator 2z2 + 3z — 2 is 0 for
-2,
L -3+v9+16 —-3+x5
n 4 T4 1

1
We see that the pole z = —2 lies on the path of integration, while the pole z = 3 lies inside the curve.

It follows by a decomposition that

1 1 1 I S SR U 11 1 11
2:2+32-2 2 (z+2) Sy 25 L2 5N 242 5 15 a4
: 73 2 2 2 2
115
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Cauchy’s principal value

and hence
7{ dz 7{ 1 1 1
vp. - S —— = vD. — -
P a2 432 -2 R 2_1 Z 42
fL sy - )
= = hm dz o,
|z]=2 2 — 5E—>0 C.4T. r. Z+2
where

C.={zeC||z|=2,|z4+2| > ¢}
and
I.={z€C||z+2|=¢, |2 <2}

It follows from Cauchy’s integral theorem that

d
[t
c.4r. 212

so we get the following reduced expression

dz 211 o1 1
vp. 5 a5 = = + lim ¢ dz.
|z|=2 2z +32—2 5 e—0+ H FEZ+2

We choose for T'. the following parametric description,

z=—-24¢-¢" for 0 € [O(e), 01 (e)],
where

@o(e)e—g and @1(5)—>+g for e — 0,

and where the interval of the path of integration is run through in the opposite direction of the

direction of the plane. Then we get by insertion and taking the limit,

. e _ omi 1o [P0ded®d) _omi i g
p?{2:2222+322 = 5 TEM fo., @ T 5 15 1900
o 2m ToomY _ 2m m T
- Srslsa-g 5

Example 7.3 Let C denote the square with the corners 1, i, —1, —i. Compute

7{ dz
vp. —_—.
P 02471

O1(e)}

It is obvious that the corners of C are the poles of the integrand, so for given € > 0 we define the

auxiliary curves

C.={z€ClzeC,|z—a|>¢c,a=1,1, —1, —i}
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0.5 1

Figure 17: The curves C' and C. with the arcs of evasion.

and

Ipe={2€C||z—a|l =¢, zinside C}, a=1,1, -1, —i,

of positive direction. Then

% dz . dz . / dz n Z / dz
vp. = lim = lim —_— -
C Z4 - 1 € Z4 - 1 € Cs_Fl,s_Fi,s_Ffl,s_Ffi,e Z4 - 1 a:]_’i)f]_,fi Fa,s Z4 - 1
dz
= 1. — .
oY [

a=1,7,—1,—1
By a decomposition,

1 1 1 1 a
-1 Z res<z41,a)~za—z Z z—a

a=1,i,—1,—i a=1,i,—1,—i

Then we use the parametric descriptions
To.: z=a+ee® 6e¢ [@(a),@(a) + g] L a=1,i, —1, -,

)

in order to get
O(@)+3 cjeif

dz 1 dz 1
. — — = — - d9
Vp]{;z‘lfl 4 Z a/F z—a 4 Z ,a/@(a) et

a=1,7,—1,—1 a,e a=1,1,—1,—1

1 . T T
= 1 Z az-§:§ Z a=0.
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Example 7.4 Compute

Y /+°° dx
P oo T(x2H1)

The integrand

1

f(Z):m

is a rational function, and we have the three simple poles 0, i and —i. Of these, only 0 lies on the real

axis, i.e. on the path of integration. Since

3

2f(2) = % —1

for z — oo,

there exists an R > 1, such that

23 ‘

— | <2
z(2241)

for |z] > R,

thus

1

2
(14) z(z2+1)‘ SW

for |z| > R.

/

&
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It follows that vp. fj:; exists and that it can be computed by a residuum formula,

dz
z(x?2+1)

/m o S ) B L
. = T . T .
vp 2@ mires | — 21l ) mires | - CESE ,

because z = i lies to the left of the path of integration seen in its direction, and because its weight
is 2mi, while the residuum at the pole z = 0 on the z-axis roughly speaking is halved with only part
going to the upper half plane and the other half to the lower half plane.

In the present case it suffices to convince oneself that the integral is convergent, because the integrand
is an odd function, so the only possible value is 0, i.e.

/+°° dx 0
vp. ——— =0.
P oo T (2 +1)

For COMPLETENESS we compute

1 1
- i) =1limE = =__ REGEL II
- (Z(z2+1) ’ Z) Imo ==y )

1
where P(z) = B and Q(z) = 22+ 1, and

1 . 1
res (m 3 0) = ll_)n% 22—_“ = ]., (REGEL ]:A)7

and we have (CONTROL),

/+00 du 2w res 1 i | + mires ! 0
vp. — = 27 _— T —_—
P e (224 1) z2(2241) 22(22+1)°

Example 7.5 Compute

/+°° dx
vp. —_— .
P oo T (x®+1)

The integrand

1
f(Z)Zm

is a rational function with a zero of fourth order at oco. It is analytic in all of the complex plane except
for the simple poles

N | —

Oa _1a

N =
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Figure 18: The four poles, of which two are lying on the path of integration, i.e. the real axis.

cf. the figure. We conclude from

4
z‘ﬁ”(z)zﬁ%l for z — oo,
that there exists an R > 0, such that
2
|24 f(z)| <2, dvs. |f(2)] < g for |z| > R.

Now, a = 4 > 1, so Cauchy’s principal value exists. In fact, we have simple poles on the x-axis, and
a > 1in (15). The value is given by the residuum formula

/+°° dz S 1 1+,\/§
vp. ———— = 2mites | ————; = +i-——
P o Z(x341) 2(z2+1)7 2 2

. 1 ) 1
+7TlreS (2’(2’3—|—1)’ 0) —+ mires (Z(Z:3—|—1) 5 —1) .

Then by RULE 1A,

1 1
——;0) =lim w——=1
res(z(23+1), ) 20028 11
The other two poles satisfy the equation 2§ = —1. Putting

PE) =1

and Q(z) =2 +1,

then P(z) and Q(z) are analytic in a neighbourhood of zy, and since

1 P(2)

S Q)
it follows from RULE II that

1\ (P \ Pl 1 1 1 1 1
(i) == (o)~ g mn Mo E
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1 3
This is true for both zyg = —1 and for z5 = 3 +1 g, so it follows that at

v /—HXJL = 2mires ;1—&—2@
P oo T(x341) 2(z3+1)7 2 2

1
+7TZ res (m O) —+ iy res < 23 + 1 >

= i (s ) it () =i (-2 41 =0.
—7T7/37T’L7T7/3—7T’L3 3

Note also that since the integrand is real, the result shall also be real.

Example 7.6 Compute

oo dy
vp. mT

Figure 19: The poles of the integrand. Two of these, +1 lie on the path of integration.

The integrand f(z) = is a rational function with a zero of order 6 at oo, i.e.

6 _
56
Af(2) = 5 1—>1 for z — oc.
Hence there exists an R > 0, such that
1 2
f(2)| = zﬁ—l‘W for |z| > R.

Since f(z) has only simple poler and da a = 6 > 1, it follows that Cauchy’s principal value exists and
is given by the following residuum formula,

too g ) 1 1 V3 1 1 3
vp.[00 -1 2ﬁz{res<m;§+17 + res m,_EJMT
; 1 1
+m{res<m,1>+res(26_1’_1)}.
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If 2§ = 1, then we have by RULE 11,

1 1 1z 1
res cz )= — =22 =2 2.
1) 7622 628 67

We can compute all four residues by this rule, so

+o0 T
vp.[ :I:Gd—l = 27‘1’1%{(%+Z?> + <%+i\/7§>}+m'~%{l+(—l)}

27‘(\/57771'

6 V3

As a very weak control we see that since the integrand is real, the result is also real.

= Qm'%-z‘\/ﬁwz—
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Example 7.7 1) Prove that the Cauchy principal value

2)

+oo eiaw -1

K(a) = Vp./ ———dx

o x
exists for every real number a, and show that

K(a) = —7lal.

Compute the integral

2 )

T cos ax — cos bx
LORAL T EOSPY
x

— 00

expressed by K (a) and K (b).

First note that the integrand

etaz _

22
has only the pole z = 0 (and oo as an essential singularity). The numerator has a zero of first
order at z = 0, hence z = 0 is a pole of first order. From ’ei‘”| <1 for a > 0 and Im(z) > 0,
follows the estimate
eiaz -1

5 7 for |z| > R and Im(z) > 0,
z

<

where we also have assumed that a > 0. Thus the conditions of the existence of Cauchy’s principal
value are fulfilled for a > 0, and it is given by a residuum formula,

+oo ia:cil iiazil 1 d )
K(a) = Vp/ﬁOo %dzﬂ’lres(%,o)ﬂlill_{%%(elazl)
= 7ilimiae'** = —ma = —nlal.
z—0
If a <0, ie. a = —|a|], we get by a complex conjugation and the result above that
oo jiaz _ +oo ilal _
1 1

K(a) = Vp./iOo eravzvp./iOo erm:KﬂaD = —mlal.

Summing up,

+oo eiaac -1

K(a) = K(|a]) = vp-/ ———dr=—nla, ack.

—0o0

The result is real, so

+00 _iax +oo
-1 3 -1
VD. Re{/ era:}z vp./ %dm

/+°° cos(az) — 1

22

K(a)

dx = —ml|al.
—0o0

123
Download free eBooks at bookboon.com

Cauchy’s principal value



Complex Funktions Examples c-7 Cauchy’s principal value

cos(az) — 1
2

has a removable singularity at x = 0, and we can remove “vp.” in front of the integral, and we

have the estimate

The numerator cos(az) — 1 has a zero of at least second order at 0, so the integrand

cos(ax) — 1 - 2
2 = 22

for |z| > 1.
x

X

2) Clearly, the zero of the numerator at = 0 has order 2, so the singularity at 0 is removable. Since

cos(ax) — cos(bx)

2
<= for x # 0,
x

T

and the integrand is continuous with a continuous extension to 0, we conclude that the improper
integral exists and that it is given by

/+°° cos(ax) —2 cos(bx) dr — lim e /+°° Cos(ax) - cos(bx) iz
PN e—0+
—  lm e /+°° cos(ax) dx ~ m e /+°° cos( b:c -1 I
e—0+ e—0+
+oo o —+oo b
= Vp./ 7(:08(&? dx — Vp./ 7%8( :172) dz
oo x o x
_ /+°° cos(aa;) -1 d — /+°° cos(bxz) -1 da
oo x oo x

— K(a) — K(b) = —n(la] - b]) = 7(|b] — [a]).

Example 7.8 1) Find the poles, their order and their residuum for the function

Log z
(z—1)2(2—2)(2 = 3)°

flz) =

2) Use the calculus of residues to find Cauchy’s principal value of the integral
“+o00
vp. / f(z) dx,
— 0o

and then compute the integral

/0 da
oo (= 1)2(x = 2)(z —3)

1) We have a branch cut along R_ U {0}, so it only makes sense to find the poles of the function
outside this half line. It follows immediately that z = 2 and z = 3 are simple poles. Furthermore,
(2 —1)? has a zero of order 2, while Log z has a zero of order 1. Hence, z = 1 is also a simple pole.
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The residuum at z = 1 is computed by considering z = 1 as a pole of at most order 2,

) - d Log 2 L i 1 1
res(f51) = ﬂifﬂﬁ(@—axz—m>_?ﬂ{hgzcu(u-axz—@>+z@—axz—m}
1 1
- 0+1-(1—2)-(1—3):5'
Then we get
pon Log 2 -
reb(f,2)——(2_l)2.(2_3)— In 2,
and
res(f;3) = Log 3 _1 In 3.

B3-12-3-2) 4

Figure 20: The path of integration Cr . = C47%.

2) Choose the path of integration Cr . as the one given on the figure, where 0 < ¢ <1 <3 < R. We
shall allow the path of integration to pass through the simple poles at z = 1, 2 and 3, and they
contribute to the integral with 7i times their residues. We shall further assume that the part of
the path of integration which runs along the negative and real axis, actually lies in the upper half
plane above the branch cut. It follows from these assumptions that

(2)dz = w{res(f;1) +res(f;2) +res(f;3)} = i {l —In2+ ! 1n3} .
CRr.e 2 4

We get the following estimate along the circular arc |z| = R, z = Re®, for R — oo,

g Log = InR+m
dz| < -mR— 0.
/H C-1G-2):-3 |~ R-1ER-2E-3 "
Along the circular arc |z| = ¢, i.e. z = ce’?, we get the following estimate for £ — 0+,
/7r Log = &l < [Ine| 4+ 7 .
-
=0 (2 =1)2(z = 2)(z = 3) T 1-e)P(2-e)B-¢)
e|lne| + e
= '(1—75)2(276)(376)H0’
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where we have used that e|Ine| — 0 for £ — 0+ due to the rules of magnitudes.

Hence we conclude by taking the limits € — 04+ and R — +o0 that

oo (1 1
Vp./ flx)dx =mi §—ln2—|—11n3 .

— 00

This implies that

1 1

B n lim € Log « . R Log « .
- Jiomim{/R e e L (w—1>2<x—2><x—3>d}

I i /_6+/R In|z| do+i /‘5 dx

im  lim T +im .
e=0+R—+too | J_p Jo (x—1)%(x—2)(z—3) _g (x=1)2(x —2)(x - 3)
Then by taking the imaginary part and then the limits,

0
dx 1 1
=——In2+ - 1n3.
/_m<x—1>2<x+2><z—3> g gl
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As a CHECK we see that the latter result can also be derived by a decomposition and a simple
integration. It follows from

1

(x —1)2(z — 2)(x — 3)

1 1 A
I-2)(1-3) @—12 z-1

,_.
—
-
—

o122 -3 -2 (B-12B-2) z-3
11 A 1 11
B §(m—1)2+m—1_x—2 4x-3
that
A 1 11
x—l_:r—2+1x—3
1 1 1 2= (z—=2)(x—3)
(z—-12(z—-2)(z—-3) 2 (z—-12 2(z—1)2(z—2)(z—3)
—(z—-1)(z—-3)+r—-3+2 —z+3+1
20r —1)2(z - 2)(x —3)  2(z—1)(z—2)(x —3)
_ —x+4
2z —1)(z—2)(x—3)
~1+4 1 —244 1 —3+4 1

21-2)(1-3) -1 20-1)2-3) z-2 2B8-03-2) z-3
31 L1
4 z—1 2—-2 4 x2-3

hence A = T and then by insertion and a usual integration,

/0 dz /011+311+11dx
oo (@ —1)2 2) 3)  Jowo\2(@-1)2 42-1 -2 4z-3

(z—2)(x -
11 3 1 0
lim |-~ ——+>Injz—1|-In|z—2|+ > In|z—
R—1>r£100|: 371 T mlemt=injz=2f+ 3 Inf 3@3
11 1 . 11 1, |(z=1)3x-3)
4 0-In2+-In3— 1 e
3 PO metg xirfloo{ 2a—1 4 (@2

1 1
5 —ln2—|—1 11137

in accordance with the previous result.
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Example 7.9 Compute
+o0 eia:ﬁ
vp./ﬁoo —:v(x2+7r) i

Then prove that the improper integral

/+°° sin (V)

oo X (24T

exists and find its value.

The integrand

eizﬁ
f(z>:z(z2——|—7r)

has the three singularities (they are all simple poles),

0, i, —i/T,

and it is analytic in any other point of C. If Im(z) > 0, then |e?* V™| < 1, and since
3 VT 22
= |e"* V™. <C f > R and I >0
|22 f(z)| = |e p or |z] and Im(z) > 0,

where R > /7 is fixed, we conclude that

(15) [f(2)] < 2%3 for [2| > R and Im(z) > 0,

(note that we cannot here allow Im(z) < 0).

Remark 7.1 By a more careful analysis, which shall not be given here, one can show that one can
choose

RQ
C = ,
R2 -7
because
22 z2—|—7r—7r T ™
2 = 2 R =122 -1
Z4+T 24+ ze+T 24+ T

is maximum for z = £i R. {

The pole 0 on the real axis is simple, and we have a = 3 > 1 in (15). This implies that Cauchy’s
principal value exists and that it can be computed by a residuum formula,

400 eizﬁ g o eizﬁ \/_ ) eizﬁ 0
Vp/_oo m LT — 2T 1Tres m,Z i +7TZI'ES m,
etz VT etz VT _ 2me-e "

1
=921i lim — 47 li - L e
T Grive L UL
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Now

. sin (/7 x) 1

im ——= = ,
=0z (2?2 +7) 7
so we conclude that the integrand

“+oo 1
[ s
—oo -1

because we have for |z| > 1,

sin (/7 x)

T

is continuous, so

sin (/7 - x)
+

x(x?+ )

sin (/7 )
x(x?+m)

sin (/7 x)
x(x?+m)

1
dx+/ 5 dx,
|z|>1 &7+ T

<1, r eR.

It follows from the continuity that the former integral exists, and the latter integral is of Arctan type,
i.e. in particular convergent. Hence we conclude that the improper integral

/+°° sin () |

oo X (224 *

is convergent and that its value is given by

+o0 —€ +o0o
vp. / sin (ﬁx) dr = lim / / sin ( dx .
o (22 4m) e—0+ x2+7r

We have
. ol too gievT B 20 cos (zy/7) + i sin (z /7)
(16){1—6 } = Vp./_oo —I(IQ—FTF)dw—VP-/_OO PP dx
B +20 cos (z 1/7) +0 sin (x /7) . ; +0 sin (z\/7)
SR L o LS B T

because “vp” is superfluous on the sine integral according to the above. If one wants to be particular
careful, then notice that we have by the definition,

w. [ :” o= ([ 4] +°°> T o

because the integrand is an odd function in z, and because the improper integrals f:; ---dr and

f;_oo .-+ dx clearly exist.

Then we conclude from (16) that

/+°° sin (2 \/7)

oo (224 )

r=1—e¢".
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8 Sum of special types of series

Example 8.1 Find the sum of the series

+oo 1

and then derive the value of the important sum

S o
5
oard (2n+1)
1\ 2 c
Putting f(z) = ( — 5) , it is obvious that f(z) satisfies an estimate of the type |f(z)| < B
z
for |z| > 1. Since z9p = = ¢ Z is the only pole, the conditions for the application of some residuum

formula are satisfied. The auxiliary function

cot(mz)

o) = T g

(-2)

Need help with your
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the quality of your dissertation!
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N
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1
has at most a double pole at zg = ok so we may apply Rule I with ¢ = 2. This gives

res

(j’“”f)k; - ﬁ 3%%{<z— %)Qg(z)} = lim (= {1+ cot?(r2)} 7) = —.
2

2
Finally, by insertion into the residuum formula for the sum of a series of this type,

It follows by a small rearrangement that
) +oo 1 +oo 1 +oo 1 +oo 4
2 2 2
and then finally
+00

Z;Jﬁ
(2n+1)2 8"

n=0

Remark 8.1 Since any number m € Z can be written as

m=2"2n+ 1), for uniquely determined r € Ny and n € Ny,

1
and since the series Z:g — 1s absolutely convergent, it is easy to derive that the sum is given by
n

—n? B = (2n+1)? 0 22 £~ (2n+1) (22)? — (2n+1)?
too 2 2

1 1 1 1 1 ™ T
D O T N I - AR
{+4+42+43+ };J(Qn—&-l)Q 1_1 8 6’

which is a very important result in the applications. ¢
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Example 8.2 Find for every given constant a > 0 the sum of the infinite series

2 2"
—n +a

We can obviously for e.g. |z| > 1 find a constant ¢ > 0, such that we have the estimate

1
22 4+ a?

C

2%

IN

If(2)] =

which proves one of the assumptions. Since f(z) has only the two simple poles z = +ia ¢ Z, the
other assumption for the application of the residuum formula is also fulfilled. Since cot(+ima) # 0, it
suffices to compute the residues

1 1 1 1
res m Jwa | = % and res m, —ia | = —%

Then we get by the residuum formula,

+oo
1 1 . 1 .
Z m = -7 % COt(lT('a) — % COt(*Zﬂ'a)
_ . C?S(?fﬂ'a) __r, .CO.Sh(T('CL) T - coth(ma).
ia sin(ira) ia i-sinh(ra) a
Thus
+oo +oo
1 1 1 1 1 T
—_—_— — —_—— = —= - th .
Z n?+a?  2a? 3 Z n?+4+a?  2a? o © (ma)

n=0 n=—oo
If @ = 1, then we get in particular

Jil 1—&—Wcoth
— ==+ = .
n2 2 2

n=0

Example 8.3 Let a > 0 denote a constant. Find the sum of the alternating series

R Vi

2 Ty g

The underlying function f(z) = is the same as in Example 8.2, so we have already checked

22 + a?
the assumptions of the relevant residuum formula in Example 8.2. The only difference is that the
auxiliary factor cot(mz) has been replaced by 1/sin(7z), so it follows immediately by insertion into

the residuum formula that

S A O S NS SO WS P S S S
n?+a2 2ai sin(ira) 2ai sin(—iwa) | ia sin(ima) @ sinh(ra)’

n=—oo
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Since

(=H™ ="

(_n)2 +a2 - n2 +a2’

it easily follows that

*i (=1)" 11 i" (=1)" Lo 1
n2+a2 242 2
n=0 n=—oo

n?+a® 2a2  2a sinh(ra)’

If in particular a = 1, then

*i(—l)"_lJr T
n2+1 2 2sinhn’

Remark 8.2 Even if one may use the theory to find the sum of many convergent series, where the
term has the structure of a rational function in n, one should not be misled to believe that this is true
for every series of this type. The simplest example is

+<><>1

ZF (~1,202),

n=1

the exact value of which is still unknown. ¢

Example 8.4 Let a € Ry \ N. Find the sum of the series

+oo 1

D

n=0

The degree of the denominator is precisely 2 larger than the degree of the numerator, so the series

+oo 1

D wa

n—=-—oo

is convergent when 2a ¢ N, and the value is given by

R | R | 1 k
Z 7712*(12:22()—n27a2+a_2:_7TZICOt(aj7r) res (f; aj;)
n= =

n=—oo

— {cot(aﬂ) res <%(z+a)(za) : a) + cot(—ar) res (m : a>}

1 1
= -7 {% cos(am) + o cos(—aﬂ)} = —g cot(am),

hence by a rearrangement,

JFZO:O LI T cot(am)
n2—a2 242 2a '

n=0
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The expression (the series)
+oo

1
> i

n=0

1 1
is continuous in a € R4 \N; so this formula also holds for a = p+ > p € Np. Since cot ((p + 5) 7r> =

0, p € Ny, we obtain in this case

i“ 1 1 1 2 peN
= — = — = — s 0-
= 1 ’ o(p L ’ N 2 (2p+1)2
AP Py Py
ALTERNATIVELY,

t 1
res(%;ia)—o fora=p+ =, peNp,
z4—a 2

because the singularity is then removable.

[ ]
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Example 8.5 Find the sum of the series

Z :
n=0

First we note that

n?+4n+5=(n+2)*+1.

We use that
fi—l—kzco‘chw
n:0n2+1_2 2

is the sum of a known series, so by a small rearrangement,

+oo

D

n=0

—+o0 “+o00

1

n2+4n+5 :nz:;)

1
CESLESapS

n=2

1 1
__1__

n2+1 2

Example 8.6 Find the sum of the series
+oo

1
Z n?2+1)(2n+1)"

n=—oo

400

2

n=0

1 T
nz—H = -1 =+ 5 COthﬂ'.

The polynomial of the denominator is of degree 3, and it does not have any zero in i Z. We therefore
conclude that the series is convergent, and its sum can be found by a residuum formula. The poles

are
i L
) b 27
thus
Ji:.o -
= (P +1)(2n+1)
(i ) 1 ,
S R
w4 cot(im) - res (ZZ+1)(22+1),2

1

+eot(—im) -res (m | "’)

ros cot(m z) o1
(22+1)(22+1)" 2
_ gt 1 ol . —
sin(im) (i+4)(2i4+1)  sin(—im) (——4)(—2i+1)
B coshm 1 1 +cosh7r 1 1
= " \sinhr i 2i(142i)  sinhm (=) (—24)(1—2i)
™ 1 ™ 1+2t4+1-20 7
—Z cothm- = _—cothm - —————— — — cothw.
g COHIT {1+2i 1—21’} g M 5 5 T
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1 1
Remark 8.3 The function m has a simple pole at z = ——, so the auxiliary function
cot(7z) . . 1 N . .
————— has a removable singularity for z = —=. This is in agreement with that the residuum
(2241)(22+1) 2
1
of the auxiliary function is 0 at z = —5 O

Example 8.7 Find the sum of the series

“+o00

2n+1
Z (n2+1)(Bn+1)

n—=—oo

The corresponding analytic function is

i Newey )

which has a zero of second order at oo, and the simple poles

1 . .
alzfga az =1, az = —1,

where 2a; ¢ Z. It follows that the series is convergent with the sum

= 20+ 1 7r 1
n:Z_OO 21 Gn D) =—m {COS (—§> res (f; —5) + cot(im)res(f;i) + cot(—im)res(f; —Z)} .
Here,
2
1\ 1[2z+1 1 3+t 1
res| f; —= ) =< | 5—— =_. =
3 3122+1),_ . 3 1 10
#=—3 - +1
9
res(f:1) = 2241 2+l 1T
Ul z+)Bz+ 1)), 2i(3i+1) 20
res(f; —i) = 2z +1 =241 14T
T =)@+, —2i(=3i+1) 20
Finally,
' h
cot(im) = C.OS(?W) —3 C?S T_ —i cothm,
sin (i) sinh 7

and

cot(—im) =i cothm,
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so the sum is

+o00o . .
2n+1 1 1 . —-1-17 . —1+7

§ P ho- hr-

L D) (2n 1) ”{ J3 10 Lo ( 20 )HCOt T ( 20 )}

1 7i /3 Tr
= —— 4+ i cothm- | —— = —— + — -cothm.
ﬂ{lo\/ngzco s ( 10)} 30 —1-10 coth

Example 8.8 Prove that

400 400
)" 1 -y P
2 (2n+1)3 52 (2n+1)3 32

n=0 —o0

When we split the sum and change the variable n = —m — 1, i.e. m = —n — 1, then
+o0 n +oo n -1 n +0o0 n +oo —m—1
(1) _ (1) =H" (=1) (1)
n;m (2n+1)3 ; (2n+1)3 + n;oo (2n+1)3 TLZ:% (2n+1)3 i mZ::o (—2m —2+41)3
+oo n too m—4 +oo n
-1 -1 -1

= 3 Gt i =2 G

—(2n+1)* = (2m+1)3 — (2n+1)?

and the first equality follows.

1
We have a triple pole at z = —5 and the series is clearly convergent, so we obtain by a residuum

formula,

“+o00
EU s L]
n;m (2n+1)3 ((2,2 + 1)3sin(mz) ’ 2> '

A small rearrangement gives

1 1 1 1
(22 +1)3sinmz 8 1\® sinmz’
S0
foo n 2
Z (-1) T 1 I d 1 T d [ cosmz
— = —— .= lm —|— ) =— lim 7—
(2n+1)3 8 2! .-_1dz? \sinmz 16 -—-1 dz \sin’7z
n=—o00
w2 sin 7z cos? mz w2 T 73
= Z dim {- — o =T T ool =T
16 ziml{ Tenlrz sin37rz} 16 { (-1 m } 16

Summing up,

*f (D" 1N (A

o (2n+1)P 2 A~ (2n+1)% 32
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Example 8.9 Find

+oo
(="
Z (2n+1)*

n=0

1
We see that z = —5 is a four-tuple pole of

1 1 1
f(z):mzﬁ‘ﬁ,

Vowo Toucxs | Rewanr Tovcks | Mack Toueks | Vowo Buses | Vowo Coxsteucrion Ecuresent | Wowo Pesm | Vowo Aemo | Vowo IT
Vowo Fieskcer Sepaces | Vowo 3P | Vowo Powemreaim | Vowo Paers | Vowo Techwowosy | Vowo Loasncs | Busieess Anes Asie
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so the sum is computed by a residuum formula,

+ZOO (—1)" B l +Z°° (=)™ - —Eres cot(mz) ) l
(2n+1)* 2 £~ (2n+1)* 2 1\ 2
n=0 n=-00 16 - (z + —)
2
v cot(mz) 1 T . s
= —ggres ﬁ; ST 32 3 ZETE% 123 cot(mz)
(” 5)

T y d? { 1 }
= - m —— =7
6-32 -1 dz? sin®(72)

3 .
™ m {_7‘(’ sin(7z)

sin®(72)

Remark 8.4 It follows that

sin?(7z)

2 fand ()
6-32 .1 dz \ sin®(7z)

cos?(7z)

+oo +oo +oo j +oo
1 1 1 1 1 (=1)™ 1 (=)™
[ — 1 _ i _ i P S — - N 7
S {retarsrw ) S e oL (5) Seo
B 1 7r4_16 71'4_71'4 o
B 1 1 96 15 96 90
ot
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Example 8.10 Find the sum S of the series
+o00 1

>

-
1
n=0 _
(n + 2)

It is well-known that

— =,
~ (2n+1) 8
hence

+oo +oo 2 2
1 1

Y oy =4 S

(2n+1)2 8 2

2
1
n=0 - n=0
(n + 2)

Example 8.11 Prove that the series
+o00 1

D6

is convergent.
Then find the sum of the series.
Finally, find

“+oo

1
Z (4n —1)(4n —3)’

n=1

where we only sum over the positive integers.

4 4

1
Here, <n - > (n — 3) is a polynomial of second degree, which is not 0 for any n € Z. Hence, the

series is convergent and the sum is given by a residuum formula,

+o00

™

t t
o gim (mz) lim (mz) | _ .
sl 3 PR 1
4 z — — 4 - —
4 4
Then we note that
0 —+00

I )6

n—=— n=0

+oo 1

1 1
ZOO (dn—1)(dn—3) 2 (—dn —1)(—=4n—3) 2 (4n + 3

= 2 A{n+1t—1)@{n+1}-3)

n=0

e~ w

1)@ —3)
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hence
RS 1 1 <X 1
;(471—1)(471—3) B 5;(471—1)(471—3)

ALTERNATIVELY, use Leibniz’s series,

T, 1_+°° (—1)n
1 rctan _ZZn—&—l’

n=0

where we have added parentheses in a convergent series, which is always possible without destroying
the convergence or the limit value. Then

7r +°°(—1)"_11+11+11++171+
4 ~om+1 \1 3 5 7 9 11 dn—3 4n-—1

I
(]

B *i 1L S @n-1)—(n-3) *i 1
= \4n-3 4dn-1) H~ (dn-1)-(4n-3) T4~ (4n-1)(4n-3)
hence
P S
— (dn—-1)(4n-3) 8
Finally
“+o0 “+o00 +00
1 1 1 T
=1 =16-2 =16-2-- =4
Z,On_l no 3 6:200(4n—1)(4n 3) 0 Z(4n—1)(4n—3) G:2-g=dm
4 4
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Example 8.12 Find the sum of the series

+o00 1

>
n=-—o0o N° — —

9
Also, find the sum of the series

+oo 1

7;2::1 (3n)?2 —1
Let

_ P(z) _ 1
7(z) Q(z) 22 1
9

where

Pz)=1 and Qz) = 22 — %

The denominator has a degree which is 2 bigger than the degree of the numerator, and the zeros of
1
the denominator are z = £— ¢ Z. We conclude that the series is convergent, and that is sum can be

found by a residuum formula,

= 1 cot(mz) 1 cot(mz) 1

Z T = — { res 1;— —+ res 1;——
n=—oco N2 — — 22— = 3 22— = 3

9 9 9
cot T cot ( W)
_ 3 3 3 T_
us 2 + _2 =-3 2 cot 3 = ™3
3 3
Then by a small rearrangement,
+oo 1 1 “+o0o “+oo
—mV3= ) T T2 [=9H18) o
n=-—oo 7’7,2 — = — n=1 n2 — = n=1
9 9
SO
“+o0 “+o0
1 1 1 3
3 =3 —77iz0,1977
(3n)?2 —1 In2—-1 2 1
n=1 n=1
142
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Example 8.13 Given the function
222+ (20— 1)z —i
(1624 — 1) (22 +1)*

f(z) =

(a) Determine the singular points in C U {oo} of f(2) and their types. Then find the residuum of
f(2) at z = .

(b) Compute the complex line integral

fz|—3 f(z)d=.

(c) Find the sum of the series

Z :
—
et 16n 1

R

)i \ )
! ! i i
=1 EN a5 1
| ! i
\ A / !

Figure 21: The four simple zeros and the two double zeros of the denominator of f(z).

(a) The denominator
(1624 —1) (22 +1)" = (422 + 1) (422 — 1) (z2 + 1)

1 1
is zero for z = +i (double zeros), and for z = i§ and z = iii (simple zeros). The numerator

can be written

222+ (2 — 1)z —i=2(2"+i2) — (2 +14) = (22 — 1) (2 +1),

i.e. the numerator has the simple zeros z = 3 and z = —i. We therefore see that f(z) can be
reduced in the following way,
o) = 222+ (26— 1)z —i (22 —1)(z +1)
(1624 —1) (224 1) (422+41) (22 - 1)(22 + 1) (2 +i)2(z —i)?
1

(2z+14)(22 — i) (22 + 1) (z + 1) (2 — )%
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It follows that z =i is a double pole, that
i i1

Ty g

1
are simple poles, and that z = 3 is a removable singularity. Finally, we have a zero of order 6 in

oo. In particular,

res(f;00) = 0.
(b) All finite singularities lie inside |z| = 3, so

% f(z)dz:—}[* f(z)dz = —2mires(f;00) =0,
|z]=3 |z|=3

where § * denotes a closed line integral with the opposite direction of the orientation of the plane,

ie. §"=—9§.

EXPERIENCE THE POW
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RUN EASIER...
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Complex Funktions Examples c-7 Sum of special types of series

(c) We have 162* — 1 =0 for
IR T A
Ty Ty o2 T

where none of the roots belongs to Z. Furthermore, we have a zero of order 4 at oo, so the series
is convergent, and we can use a residuum formula,

) PLEN O oS U S S S o S

< 16n* —1 2 6nt—1 2 16-04—1 2 32 i <1>4
n= n=—oo nzfoon _ -
2

Then consider the function

cot(r2) 4
= (3)

1 1
It follows that — and —5 are removable singularities, and since also

1
for 2z, = 3 ",

e LWZ)D = cot (mzy,) _ Zncot (mzn) _ Zncot (m2n) — 42, cot (1),
4 1 4z dzy 4- 1
25 = (§> 16

t . . . Cosh_
res M'iz =4-3-cot<7r1>:2i- 72r:2cothg,

) (1)4’ 2 2 2 sinh —
A 2
2
hence by insertion,
= 1 1 T s ™ 1 s T
. T ocothT 42 th—}:——— th = ~ 0,0718.
;1671471 2 32{ cothg 2cothgy =g~ g cothg
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Example 8.14 Given the function

f(z)

9(z) = m7

where f(z) is analytic in a neighbourhood of the points z = +i. Furthermore, it is also given that
f(=i)=—f@@)#0, and  f'(=i)= f'(i).
1) Show that g(z) has poles at the points z = +i, and indicate in both cases the order of the pole.
2) Prove that
res(g(2); i) = res(g(2); —1).
3) Show that the series
+o0 1
2 2
— (n?+1)
s convergent and find its sum.
1) The denominator (z? + 1)2 = (2z—1i)?(z+1)? has the double roots +i, and since f(—i) = —f(i) # 0,
and f(z) is analytic in a neighbourhood of the points z = 44, we conclude that

__f®
(2) = (22 + 1)2

has double poles at z = =+i.
2) Then we find that

rwwmn=%n%%(gﬁL)=m{(ﬂ@-n ﬂ@}:—lﬂo—?mx

z— Z+Z)2

and

res(g(2): —i) = — i d( /() >: lim‘{ fl(Z,)2—2 /) }

ﬂ z%nfli E

T, o i, .
R PAGOEEF{C

1
3) The poles of e Are z = Fi (double poles), and none of them lies in Z. Since we have a
z

zero of order 4 > 1 at oo, it follows that the series is convergent, and we can find the sum by a
residuum formula,

= 1 o cot(mz) . cot(mz) .
nzz_oo 7(1 n n2)2 = -7 {res ((22 n 1)2 ; z) + res ((22 n 1)2 ;1 .
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If we put f(z) = cot(mz), then

and
f(@) = cot(mi) = —i cothm # 0,

f(=1) = cot(—mi) =i cothm = —f(7),
J) =g = — s = —— = f(=i),

~ sin®(ri) (i sinhm)?  sinh?7

which is precisely the case of (1) and (2). Hence we get

= 1 B cot(mz) .\ 1 P
Z m = —77-2res< ,2)——27T-<—Z>-{f(z)+zf(z)}

n=-—oo

™ s 2 1 T
—<{——+—+i-(—=tcothm) p = — ——— + — cothr.
2 {sinh27r ( )} 2 sinh®’7 2
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Complex Funktions Examples c-7 Sum of special types of series

Then finally,

+oo 1

2 ey

n=0

N =

+oo 1 0 1 )

(14 n?

n=—oo

2 1 +7r o+ 1
= —.——— 4+ — cothm+ =.
4 ginh?r 4 2

Example 8.15 Prove that

+oo 1

f(t) = Z (Tt )2

n—-—

is convergent for every fized t € C\ {pr | p € Z}.
Then find f(t) for everyt € C\ {pm | p € Z}, expressed by elementary functions.

t
We define for every fixed t € C\ {pm | p € Z}, i.e. for —— ¢ Z, a function F(z;t) by
7T

1
f(Zﬂf)ZW-

t
Then F(z;t) is analytic for z € C\ {——}.

T
Since for z # 0,

2

22 1 1 1 f
— == |— ] -5 or z — oo,
(rz+1t)2 72 1+i 2
T2

22F(z;t) =

{*Z“’;

)2“}

1
we conclude that there exists a constant R; for every ¢ > —, such that |22F(z; t)| < cfor |z] > Ry,
0

ie.
|F(z;t)] < - for |z| > Ry.

|22
t
If —— ¢ Z, then it follows directly that the series
™
00 1

f(t) = Z (Tt 12

n—=—
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is convergent, and we can find its sum by a residuum formula,

“+o0o
flt) = Z F(n;t) = —mres (cot(wz)F(z;t); _E)

s
n=-—oo

e cot(mz) ~ t\ _ . 1 - d . t > cot(mz)
B (rz+t)2" 7)) 1l .-t dz 7r (mz +1)2
™

= —— lim icot(mz):fl lim {L}

71'2 z——L dz T z——2L1
s s
1 1

sin?(—t)  sin?¢’

2
t
where we have applied RULE I with ¢ = 2. Note that we shall use the factor <z + —> , and not
T

(72 +t)%, in the denominator. It is of course also possible directly to prove the convergence.

Example 8.16 (a) Prove that
+00 ¢
)= Z 2 _ n2p2
is convergent for every fixed t € C\ {pm | p € Z}.
(b) Express f(t) for every t € C\ {prm | p € Z}, by elementary functions.

(¢) Finally, find

—+oo
t
g(t) => 22 teC\{pr|pel},
n=1

expressed by elementary functions.

t
(a) Since t? — 72n? # 0 for every n € Z, when t € C\ {pr | p € Z}, it follows that PR is
defined for n € Z. Furthermore,

¢ |t]
2 _r2n2| = n2 for |n| = N,
so we conclude that
+oo +oo N +oco
t t t It]
Z 2 — 22 Z 2 _2p2| = Z 2 _ 12n2 +2 Z 2 S 00,
n=—oo n=—oo n=—N n=N+1

and we see that we could give a direct proof of the convergence.

ALTERNATIVELY we check the assumptions of the residuum formula, because they at the same
time assures the convergence, and we also obtain the sum.
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Consider for every fized t € C\ {pr | p € Z} the function

t t 1
Ft) = 3——5 =

12 — 72,2 7?' N
22— -
T

t t t
This is analytic for z € C\ {— ; ——}. Since we have assumed that £— ¢ Z, and that F(z) is a
T oom ™

. . . . t t
rational function with a zero of second order at oo, there exist constants ¢ > ‘—2 and T > ‘— ,
s T
such that
c
F(z;t)| < — for |z| > R,
FE0I< g forlel >

and the conditions for the convergence and the residuum formula are fulfilled. Hence

is convergent.

t
(b) Now, £— are at most simple poles, so we bet by the residuum formula and RULE II,
T

b t t t t t ¢
f@) = Z 2 o5 - TmyTes __ﬂ'— + res ——7CO(7TZ) L2

)
12 — w2n2 2 \2' 7 2 \2 7
(=) (=)
t t t
SR G 20 T ISR (mz) + lim (mz)
7T2 2L 2Z z%—% 22
(5) (= (5)
cot (- — cot (m- | ——
t T T t {7T
- ; - .
2. - T
0

+ ( t) —~cott+2£t'cott}:cott,
2.2
m
and we have proved that

2t

3

+0oo ¢
n=-—oo

(c) Since F(—z) = F(z), it follows from (b) for t € C\ {p7 | p € Z} that

2y 1Rt 1 < t
g(t) = th_ﬂ.2n2:§§:t2_7r2n2+§ Z 12 — m2n2
n=1 n=1 n=-o0
400
1 t 1 t 1 1
_ 1 L = —dcott—=\.
2 nzz_oo 2 —72n?2 2 2-—720%2 2 {CO t }
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Example 8.17 Find the sum of the series

+o0o

1
2 T

=—00

The corresponding analytic function

1

(1‘1(2’)2247Jr4

has the simple poles {1 4+ 4, —1 +4, —1 — 4, 1 — i}, none of which lies in Z. Furthermore, f(z) is a
rational function with a zero of fourth order at oo, hence the series is convergent, and its sum is given
by a residuum formula,

+o0o

1 cot(mz)
S = 424%(24% 0)
zg=—

n=-—oo

Since 23 = —4 for every pole zg, it follows by RULE II that

1

t 1
s (m ; ZO) = cot (mzp)res <Z4+4 : zo> = cot (m2g) - e = 427% - cot (mzp)

1
= 1% cot (mzg) -
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Sum of special types of series

Then by insertion,

—+oo

1 cot(mz) T
Z 24—+4=7T Z res(zll_’_4 ;zo> =16 Z 2o cot (mzp)
zé zé:—4

n=-—o0o =—4

- 116 {(1 + 1) cot(m + im) + (1 — @) cot(m —im) + (=1 4 @) cot(—7 + im) + (=1 — @) cot(—m —im)}

= 1l6 {2(1 + i) cot(m +im) + 2(1 — i) cot(m —im)} = g {(1 + ) cot(ir) + (1 — @) cot(—im)}

s coshm

T
= Z.9. — . coth
8 " ismhx a1 O
thus
+oo
1 s
n;OO n4—_’_4 = Z . COtth'.

Remark 8.5 In a VARIANT we have the following estimates for e.g. |z| > 2,

1 1 1 1 1 1

1
= < = — .
[z4+4] ~ |z|* =4 |2)*

RER

£ (2)]

Q| >~

4
so in particular, C = 3 and a =4 > 2 for |z| > 2. O

Example 8.18 Compute the sum of the series

+oo

Z 1 1 2\’
S e ) (54 2)

1 2 1 2
then f(z) is analytic in C\ {—§ ) —g}, where ~3 73 ¢ 7. Furthermore,

’fo(z)| —1 for z — oo,
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so we have checked the conditions for the convergence of the series and the sum can be found by a

residuum formula. Hence,

+§ 1 o cot(mz) 1 n cot(7z) o2
o Y VD a2 ) T G (L) 8
3 3 3 3 3 3
s
cot (—E) cot (‘?) —cot T cot —
= 3 + = -7 734— 3 =7r~3-2«cotz
T 2 2 1 1 1 3
3 3 3 3 3 3
1
= 7-3-2-— =2V3m,
V3

1 2
where we have used that —= and —3 are simple poles of f(z). Thus we have proved that

+oo 1
Z =2V3.

S(enIe
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Example 8.19 1) Determine the singular points in C of f, defined by

1
22 (e — 1)’

(17) f(z) = pEN,

and find the residuum of f at every singular point.

HINT: When res(f(2);0) shall be found one may without proof apply the following Taylor series

eTpansion

z = B,
nl

er—1
b=0

n

z for |z| < 2m,

where the left hand side of the equality is replaced by 1 for z = 0.

2) Let K,, denote in the (x,y)-plane the boundary of the square
[=7n, o] X [=Tn, Ta], where r, = 7+ 2nmw, and n € N.

Prove for every (fized) p € N that
7{ f(z)dz—0 forn — +o00  on N,
K,

where f is the function given by (17).

3) Apply Cauchy’s residuum theorem on the square with the boundary K,, and then apply the results
of (1) and (2) above, and the limit n — +oo to prove that

—+o0
1 (27)%P By
— = (=1t =P for every p € N.
; n?p (=1) 2(2p)!
Prove also that Ba, Ba, ..., Bap, ... have alternating signs.

1) The singular points are z = 2in7, n € Z. Of these, z = 0 is a (2n + 1)-tuple pole, while all the
others are simple poles.

2) Putting r, = 7 + 2n7 we get the following estimates,

dz
fome
- /rn dy + /rn dy
T S iy ety — 1 o = 4 iy ety — 1|

n dx Tn dx
+f = _
|1 etire — 1] S |z — iy [P e mire — 1]

2ry, + 21, 27”7; 27"Z _ 17'2”*1
n
|27 - 1 7|2 - % lrnl ™ o™ 2

2

<

— 0

for n — +o0.
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3) Now, z = 2inn is a simple pole for n € Z \ {0}, so we have the following computation of the

residuum,
. . 1 1 . 1 1
el = Mmoo T e s
dz
= g = (D
(2inm)2r (2m)2P  n?2p
Since

—+oo
z B, .
fl_ZH’Z’

n=0
it follows by a division by 2271,
+oo

1 _ Bn —n—2p—1
zzp(ez—l)_gnlz .

We find the term a1 by choosing n = 2p, so
z

B,
(2p)!

Then by Cauchy’s residuum theorem,

res(f(2);0) = a1 =

’I’L

. B , 1 1

k—fn

hence by a rearrangement,

~ 1 (=17 (27)*P Bay,
= )d 1P+t N.
;k% 2 sz{ f@dz4 ()" =a5, ne
Since p € N, the left hand side converges, when n — +o00. Then by (2) it follows from taking this
limit,
400 2
1 (27‘(’) p32
— (_1\pt1. D
321 i (-1) 22p) for every p € N.

The left hand side is always positive, so the factor (—1)?*! on the right hand side causes that

>0 for p odd,
By,
<0 for p even,
and the sequence Ba, By, ..., By, ... has alternating sign.
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Example 8.20 Given the function
1
f(z) =

2?sinz’
1) Find all the isolated singularities in C of the function f, and determin the type for each of them.

2) Find in a neighbourhood of zy = 0 the principal part of the Laurent series of f, i.e. that part of
the series which contains terms of the type

b
=, n > 0.
Zn

(HINT. Use the Taylor series of sinz with zg = 0 as expansion point).
3) Find the residues in the isolated singularities of f.

4) Denote by N a positive integer, and let C'y denote the curve run through in a positive sense, which
is bounding the square

e[ (s ()

Compute §.  [f(2)dz.

{z:x—i—iy

5) When z = x + iy, then |sin z|? = sin® x + sinh®y. It follows that
|sin z| > | sin x| and |sin z| > | sinhy|.
Prove that

(2)dz — 0 for N — +o0.
CnN

6) Prove that

Ji’f (_l)nJrl - 7T_2
—  n? 12

1) We have poles at z = pm, p € Z. When p = 0, we see that the pole z = 0 is a triple pole; any other
pole is simple.

2) Now, f(z) is an odd function with the triple pole at z = 0, so the principal part must have the
structure

1 a_s a—q
5o, 3 T T )
z2sin z z z
hence
sin z .
1 = a_3- +a_1-zsinz+ terms of order > 3

22 2
= a_g.{16+...}+a_1{z 7...}+...

1 2
a_3+ a_l—ga_g A S
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Then it follows by the identity theorem that

1

a_3=1 og a_1 = 6,

so the principal part is

3) We have in the triple pole zy = 0,

1 0 1
res [ —— =a_, = —.
z2sin z 76

When z, = pm, p € Z \ {0}, the pole is simple, thus

1 1 1 -1)P 1
res(i;]ﬁr)—hm—- =( )—

Z2sin 2 z—pr 22 COS 2 T
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Figure 22: The curve Cy for N = 2 and the singularities inside.

4) Using Cauchy’s residuum theorem,

N | 9 N )
0= 3 g =+ 53 5
N — ﬂ- =
p=—N =
5) Then we have the estimates
d 1
/ 2—?§(2N—|—1)-——>0 for N — +o0,
r, 22sinz

1 2
(“5) m

where I"y is anyone of the vertical line segments of Cy.
In instead 'Y, is one of the horizontal segments, then

/ dz
5
z2sinz

%

for N — +o0.
Summing up we get

1 1
< (2N +1)- . —0

z 2 sinh [ N+ -
<N—|—2> T2 sin ( —|—2>7T

lim f(z)dz =

N—>+OO CN

2 “+o0
L

Ch|>—l

Finally, by a rearrangement,

too (_1)n+1 a2

> T

n=1
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